		Notice for a												
	Hindustan Petroleum (Corporation Lin	nited pro	poses to Estimated	appoint	Retail		Minimum	in Hary		r following	details:	Fixed	
S. No	Name Of Location	Revenue District	Type of RO	monthly	Category	Type of	D	imension (i		be ar	ranged	Mode of	Fee /	Security
				Sales Potential #		Site *		Area of the n Sq. M.). *		арр	the licant	Selection	Minimum Bid amount	Deposit
1	2	3	Regular / Rural	MS+HSD in KIs	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2	CC / DC / CFS	Frontage	8 Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
1	WITHIN 3 KMS FROM MANAV RACHNA UNIVERSITY JUNCTION	FARIDABAD	Regular	150	OPEN PH SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	ON SURAJKUND ROAD WITHIN MUNICIPAL LIMIT OF GURUGRAM		Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
3	WITHIN MUNICIPAL LIMIT OF FARUKHNAGAR WITHIN MUNICIPAL LIMIT OF TAURU		Regular Regular	100 100	SC SC	CFS CFS	20 20	20 20	400 400	0	0	Draw of Lots Draw of Lots	0	3
5	WITHIN MUNICIPAL LIMIT OF BAWAL WITHIN MUNICIPAL LIMIT OF KALANAUR	REWARI ROHTAK	Regular Regular	100 100	SC SC	CFS CFS	20 20	20 20	400 400	0	0	Draw of Lots Draw of Lots	0	3
	WITHIN MUNICIPAL LIMIT OF DHARUHERA	REWARI NUH	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
9	WITHIN MUNICIPAL LIMIT OF FIROZPUR JHIRKA WITHIN MUNICIPAL LIMIT OF MANESAR	GURUGRAM	Regular Regular	100 150	SC SC	CFS CFS	20	20	400 400	0	0	Draw of Lots Draw of Lots	0	3
10	ON DWARKA EXPRESSWAY FROM DAULTABAD CHOWK TO DELHI-HARYANA BORDER	GURUGRAM	Regular	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
11	WITHIN MUNICIPAL LIMITS OF SAMPLA ,DISTRICT ROHTAK	ROHTAK	Regular	100	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN MUNICIPAL LIMIT OF KANINA WITHIN MUNICIPAL LIMIT OF BALLABHGARH	MAHENDRAGARH FARIDABAD	Regular Regular	100 100	SC SC	CFS CFS	20 20	20 20	400 400	0	0	Draw of Lots Draw of Lots	0	3
14	DABODA MOD TO HAILEYMANDI ON PATAUDI FARUKHNAGAR ROAD	GURUGRAM	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
15	VILLAGE KHERI MARKANDA, ON KHERI MARKANDA -	KURUKSHETRA	Rural	70	sc	CFS	35	35	1225	0	0	Draw of lots	0	2
16	THANESAR ROAD, TEHSIL THANESAR WITHIN 4 KM FROM INTERSECTION OF NH 44 AND SH 7, TOWARDS BABAIN ON SH 7 (SHAHBAD - LADWA ROAD), WITHIN MUNICIPAL LIMITS	KURUKSHETRA	Regular	100	sc	CFS	20	20	400	0	0	Draw of lots	0	3
17	BETWEEN JAGADHRI BUS STAND CHOWK AND VISHWAKRAMA CHOWK YAMUNANAGAR	YAMUNANAGAR	Regular	100	sc	CFS	20	20	400	0	0	Draw of lots	0	3
18	BETWEEN KM STONE 77 AND KM STONE 83, NH 344 (AMBALA - SAHARANPUR ROAD)	YAMUNANAGAR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
19	VILLAGE SANDHAI, ON RANJITPUR -BILASPUR ROAD, TEHSIL	YAMUNANAGAR	Rural	70	sc	CFS	35	35	1225	0	0	Draw of lots	0	2
20	BILASPUR BETWEEN PIPLI CHOWK AND 3RD GATE KURUKSHETRA	KURUKSHETRA	Regular	100	sc	CFS	20	20	400	0	0	Draw of lots	0	3
21	UNIVERSITY ON SH-6, WITHIN MUNICIPAL LIMITS. WITHIN 3 KM OF SERDHA BUS STAND, SERDHA TOWARDS	KAITHAL				CFS			1225				0	2
	PUNDRI ON RAJOUND-PUNDRI ROAD (MDR 113) WITHIN 2 KM OF SIWAN PUBLIC SCHOOL MAIN GATE, SIWAN		Rural	70	SC		35	35		0	0	Draw of Lots		
22	ON KAITHAL-CHEEKA ROAD(SH11) WITHIN MUNICIPAL LIMITS OF PEHOWA ON ANY MOTORABLE	KAITHAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	ROAD, NOT ON NH/SH	KURUKSHETRA	Regular	100	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
24	VILLAGE- KHALEELA MAJRA NAIN, ON ISRANA - AHAR ROAD	PANIPAT	Rural	70	sc	CFS	35	35	1225	0	0	Draw of lots	0	2
25 26	VILLAGE- BUTANA, GOHANA-JIND ROAD, NH-352A VILLAGE JAHARI ON SONIPAT BYE PASS ROAD	SONIPAT SONIPAT	Regular Regular	150 100	SC SC	CFS CFS	40 20	45 20	1800 400	0	0	Draw of lots Draw of lots	0	3
27	VILLAGE-NASEERPUR BANGAR, NH-334B, ON LEFT HAND SIDE WHILE GOING TOWARDS JHAJJAR	SONIPAT	Regular	150	sc	CFS	40	45	1800	0	0	Draw of lots	0	3
28 29	ON LEFT HAND SIDE OF SH18 BETWEEN KMSTONE 37 TO KMSTONE 39 FROM GOHANA TOWARDS DELHI VILLAGE KHANDA KHERI,ON ASSANDH-SIRSAL ROAD VIA	SONIPAT	Regular Rural	100 70	sc sc	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of lots	0	3
30	RATAK, TEHSIL ASSANDH											Draw of Lots	0	
	VILLAGE GOLLI,ON ASSANDH-PANIPAT ROAD,TEHSIL BALLAH BETWEEN KMSTONE 36 AND KMSTONE 39,ON LHS TOWARDS	KARNAL	Rural	70	SC	CFS	35	35	1225	0	0			2
31	KAITHAL,SH-8(KARNAL-KAITHAL ROAD) VILLAGE PATAN, ON MALLA ROAD (OUTSIDE MUNICIPAL	KARNAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
32	LIMITS) IN OR BETWEEN SURAIPUR AND SUKHOMAIRI ON NH 105	PANCHKULA	Rural	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
33	(NEW PINJORE BYPASS ROAD, PINJORE-BADDI) UPTO 2 KM FROM MAHARANA PRATAP CHOWK, SHAHZADPUR	PANCHKULA AMBALA	Regular Regular	150 150	SC SC	CFS	35 35	45	1575	0	0	Draw of lots Draw of lots	0	3
	ON NH 7 (SHAHZADPUR- NARAINGARH ROAD) FROM AMBALA CANTT BUS STAND TO SHAMBHU TOLL PLAZA													
35	ON NH 44 (DELHI JAMMU ROAD) UPTO 5 KM FROM AGRASEIN CHOWK, NARAINGARH TOWARDS	AMBALA AMBALA	Regular Regular	150	SC SC	CFS CFS	35 35	40 35	1400	0	0	Draw of lots Draw of lots	0	3
	RAIPUR RANI, ON SH1 (NARAINGARH-RAIPUR RANI ROAD) BETWEEN KMSTONE 701 AND KMSTONE 698, ON RHS													
37	TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD)	KARNAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
38	BETWEEN KM STONE 158 AND 161 ON NH-709E, ON RHS WHILE MOVING FROM BHIWANI TOWARDS LOHARU	BHIWANI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
39	WITHIN 2 KM FROM INTERSECTION OF DADRI-BHIWANI ROAD WITH KITLANA-MANHERU ROAD TOWARDS MANHERU ON KITLANA-MANHERU ROAD WITHIN 2 KM FROM LOHARU CHOWK CHARKHI DADRI ON NH-	BHIWANI	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
40	WITHIN 2 KM FROM LOHARU CHOWN CHARRHI DADRI ON NH- 334B, ON LHS WHILE MOVING FROM CHARKHI DADRI TOWARDS LOHARU WITHIN 2 KM FROM SHAHEED RAJKUMAR RAJKIYA UCHH	CHARKHI DADRI	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
41	VIDYALAYA RAWALDHI TOWARDS ROHTAK ON CHARKHI DADRI ROHTAK ROAD	CHARKHI DADRI	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
42	WITHIN 2 KM FROM HARYANA - RAJASTHAN BORDER TOWARDS DAYOR ON DAYOR-BAMBALWAS ROAD	FATEHABAD	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
43	BETWEEN KM STONE 137 AND 140 ON NH-52 ON RHS WHILE MOVING FROM HISAR TOWARDS RAJGARH WITHIN 4 KM FROM THE ROYAL WING RESTURANT TOWARDS HISAR ON NH-9 ON RHS WHILE MOVING FROM ROHTAK TO	HISAR	Regular Regular	170 180	sc sc	CFS CFS	35 35	35 35	1225	0	0	Draw of Lots Draw of Lots	0	3
	HISAR													
45 46	VILLAGE - SAHU ON SAHU BHAIRI AKBARPUR ROAD WITHIN 2 KM OF GOVERNMENT SENIOR SECONDARY SCHOOL	JIND	Rural Regular	70 120	SC SC	CFS CFS	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	3
	INTAL KALAN ON SH-10 BETWEEN KM STONE 81 AND 85 ON NH-709A		Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
48	WITHIN 2 KM FROM JAL GHAR KHARAL TOWARDS BELARKHA ON KHARAL-BELARKHA ROAD	JIND	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
49 50	VILLAGE - POHARKA ON SH-23 VILLAGE - MITHI SURERAN ON SH-23 ON LHS WHILE MOVING	SIRSA	Regular	120	SC SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
50	FROM SIRSA TO ELLENABAD BETWEEN KM STONE 18 AND 20 ON MDR-103 ON LHS WHILE MOVING FROM BHATTU MANDI TO NATHUSARI CHOPTA	SIRSA	Regular Rural	70	sc sc	CFS	35 35	35	1225	0	0	Draw of Lots Draw of Lots	0	2
52	WITHIN 2 KM FROM HASSANPUR CHOWK, HODAL TOWARDS HASSANPUR ON HODAL HASSANPUR ROAD, WITHIN	PALWAL	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
53	MUNICIPAL LIMITS HODAL WITHIN PALWAL MUNICIPAL LIMITS ON ALIGARH PALWAL	PALWAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
54	ROAD (NH 334D) ON ANY MAJOR ROAD IN SECTOR 68 AND SECTOR 69, FARIDABAD	FARIDABAD	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	WITHIN 2 KMS EITHER SIDE FROM INTERSECTION OF FARIDABAD MANIHAWALI ROAD (KHERI ROAD) WITH SECTOR 88 ROAD, ON FARIDABAD MANIHAWALI ROAD	FARIDABAD	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
56	SECTOR 50, FARIDABAD ON DABUA- PALI ROAD	FARIDABAD	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). '	site	be an	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	Regular / Rural	MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	8 Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
57	VILLAGE ISMAILPUR AND VILLAGE PALLA, WITHIN MUNICIPAL LIMITS FARIDABAD	FARIDABAD	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
58	ON ANY MAJOR ROAD IN SECTOR 74 AND SECTOR 75, FARIDABAD	FARIDABAD	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
59 60	BETWEEN HVPN 66 KV SUB STATION AND SLF MALL ON OLD SHER SHAH SURI ROAD, FARIDABAD ON ANY MAJOR ROAD IN SECTOR 86, FARIDABAD	FARIDABAD FARIDABAD	Regular Regular	150 150	OPEN OPEN	DC DC	20	20	400 400	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
61	BETWEEN KM STONE 49 AND 58, ON NH-19 FROM DELHI TO MATHURA, RHS	PALWAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
62		FARIDABAD	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
63	ON ANY MAJOR ROAD IN SECTOR 80, SECTOR 81 AND SECTOR 82, FARIDABAD	FARIDABAD	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
64	BETWEEN KM STONE 58 AND 63, ON NH-19 FROM DELHI TO MATHURA, LHS	PALWAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
65	BETWEEN KM STONE 85 AND 92 ON NH 19 FROM DELHI TO MATHURA, RHS	PALWAL	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
66	WITHIN 2 KMS FROM ANKHIR CHOWK TOWARDS SURAJKUND ON SURAJKUND BADHKAL ROAD, LHS	FARIDABAD	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
67	WITHIN 3 KMS FROM PANDIT GOPI CHAND CHOWK ON ANY ROAD, FARIDABAD	FARIDABAD	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
68	BETWEEN KM STONE 74 AND 78, ON NH-19 FROM DELHI TO MATHURA, RHS	PALWAL	Regular	150	OBC	DC	40	45	1800	32	95	Draw of lots	15	4
69	BETWEEN KM STONE 41 AND 43 ON NH 19 FROM DELHI TO MATHURA,LHS	FARIDABAD	Regular	150	OPEN	СС	40	45	1800	32	12	Bidding	30	5
70	BETWEEN KM STONE 47 AND 53, ON NH-19 FROM DELHI TO MATHURA, LHS	PALWAL	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
71	BETWEEN KM STONE 82 AND 89, ON NH-19 FROM DELHI TO MATHURA, LHS	PALWAL	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
72	SECTOR 70, SECTOR 71,SECTOR 72, SECTOR 73 AND SECTOR 74 ON TIGAON ROAD	FARIDABAD	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
73	SECTOR 87 ON MATA AMRITANANDAMAYI MARG BETWEEN KM STONE 90 AND 94, ON NH-19 FROM DELHI TO	PALWAL PALWAL	Regular Regular	150 150	OPEN CC 2	CC DC	20 35	20 35	400 1225	32 32	12 95	Bidding Draw of Lots	30 15	5
75	MATHURA, LHS BETWEEN KM STONE 82 AND 92 ON DELHI HISSAR ROAD, NH09	ROHTAK	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
76	(OLD NH10), LHS BETWEEN KM STONE 82 AND 92, ON DELHI HISSAR ROAD,	ROHTAK	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
77	NH09 (OLD NH10), RHS WITHIN 5 KMS FROM CROSSING OF EASTERN PERIPHERAL EXPRESSWAY AND NH334D TOWARDS ALIGARH, ON ALIGARH PALWAL ROAD (NH 334D),RHS	PALWAL	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
78	WITHIN 2 KM FROM CROSSING OF WESTERN PERIPHERAL EXPRESSWAY AND NUH PALWAL ROAD, TOWARDS NUH, RHS	PALWAL	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
79	BETWEEN KM STONE 58 AND 63, ON NH-19 FROM DELHI TO MATHURA, RHS	PALWAL	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
80	ON FARIDABAD BYPASS ROAD BETWEEN BADARPUR BORDER AND KAILGAON, FARIDABAD	FARIDABAD	Regular	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
81	VILLAGE ALAPUR ON ALAPUR PATLI ROAD, WITHIN MUNICIPAL LIMITS PALWAL	PALWAL	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
82	BETWEEN KM STONE 56 AND 58 ON NH 19 FROM DELHI TO MATHURA, LHS (WITHIN PALWAL MUNICIPAL LIMIT)	PALWAL	Regular	150	OPEN	CC	30	30	900	32	12	Bidding	30	5
83	WITHIN MUNICIPAL LIMITS OF HODAL, EXCLUDING NH19 BETWEEN KM STONE 41 TO 44 ON NH 19 FROM DELHI TO	PALWAL FARIDABAD	Regular Regular	100 150	OBC OPEN	DC CC	20 40	20 45	400 1800	32	55 12	Draw of Lots Bidding	15 30	5
85	MATHURA, RHS WITHIN MUNICIPAL LIMITS OF PALWAL, EXCLUDING NH	PALWAL	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
86	BETWEEN KM STONE 63 TO 69, ON NH-19 FROM DELHI TO MATHURA, LHS	PALWAL	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
87	BETWEEN KM STONE 77 TO 82, ON NH-19 FROM DELHI TO MATHURA, RHS BETWEEN CAPTAIN UMANG BHARDWAI CHOWK AND DWARKA EXPRESSWAY INTERSECTION WITH NH352W ,ON NH352W	PALWAL	Regular Regular	150 150	OBC OPEN CC 1	DC DC	40 30	45 30	1800 900	32	95 75	Draw of Lots Draw of Lots	15 15	5
89	(GURUGRAM PATAUDI ROAD) ON DLF ROAD ,FROM DADA DEPUTY CHOWK TO SHAHEED	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
90	RAO RANJEET SINGH CHOWK, LHS ON DWARKA EXPRESSWAY ROAD,FROM GARHI ROAD TO	GURUGRAM	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
	PATAUDI ROAD , LHS ON DIVIDING ROAD OF SECTOR 88 AND SECTOR 89	GURUGRAM	Regular	150	OPEN	cc	20	20	400	32	12	Bidding	30	5
92	WITHIN 6 KMS FROM INTERSECTION OF GURUGRAM PATAUDI ROAD WITH HAYATPUR ROAD TOWARDS PATAUDI,LHS, ON GURUGRAM PATAUDI ROAD(NH352W) BETWEEN INTERSECTION OF GURUGRAM PATAUDI ROAD WITH DWARKA EXPRESSWAY AND WITH HAYATPUR ROAD,ON	GURUGRAM	Regular	150	OPEN OBC	DC	30	30	900	32	75 75	Draw of Lots Draw of Lots	15 15	5
	NH352W (GURUGRAM PATAUDI ROAD) FROM DADI SATI CHOWK TO NH48 JUNCTION VIA JAI SINGH		Regular											
94	CHOWK ON NEW NH352W BYPASS ROAD CONNECTING DWARKA	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
95 96	EXPRESSWAY TO WAZIRPUR MOD BETWEEN INTERSECTION OF KARGIL SHAHEED SUKHBIR SINGH MARG WITH PATADUI ROAD AND WITH NH48 ,ON KARGIL	GURUGRAM	Regular Regular	150	OPEN	DC DC	20	20	400	32	95 75	Draw of Lots Draw of Lots	15	5
97	SHAHEED SUKHBIR SINGH YADAV MARG ON DHARUHERA BHIWADI BYPASS FROM NH48 TO NH 919, RHS	REWARI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
98	ON GURUGRAM PATAUDI ROAD,BETWEEN PATAUDI CHOWK TO CAPTAIN UMANG BHARDWAJ CHOWK	GURUGRAM	Regular	150	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
99	WITHIN 6 KMS FROM KMP INTERSECTION TOWARDS PATAUDI,LHS ON NH352W (GURUGRAM PATAUDI ROAD)	GURUGRAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
100	WITHIN 4 KM FROM DWARKA EXPRESSWAY ON ROAD CONNECTING DWARKA EXPRESSWAY AND HERO HONDA CHOWK. SECTOR M14 ON ROAD CONNECTING PATAUDI ROAD TO IMT	GURUGRAM	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
101	SECTOR M14 ON ROAD CONNECTING PATAUDI ROAD TO IMI MANESAR TOWARDS IMT MANESAR, LHS ON NH 352W (GURUGRAM PATAUDI ROAD) WITHIN 8 KM FROM VIVEKANAND SENIOR SECONDARY SCHOOL, CHILLAR	GURUGRAM	Regular Regular	150 150	OBC PH SC PH	DC CFS	20 35	20 35	400 1225	32	75 0	Draw of Lots Draw of Lots	15 0	3
102	TOWARDS VILLAGE BAPAS. ON ROAD DIVIDING SECTOR 103 AND 106,GURUGRAM	GURUGRAM	Regular	150	OPEN	CC	20	20	400	32	12	Bidding	30	5
104	FROM DHARAMPUR MAIN MARG CROSSING TO DELHI BORDER ,ON UPPER NORTHERN PERIPHERAL ROAD	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
105	ON NH919 ,BETWEEN INTERSECTION OF NH919 WITH NH352 AND WITH NH48 TOWARDS DHARUHERA ,LHS	REWARI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
106	ON OLD RAILWAY ROAD FROM SECTOR 4-7 CHOWK TO RAJIV CHOWK	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
107	ON ANY MAJOR ROAD IN SECTOR 4,5,6,8,9,11 OF IMT MANESAR	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
108	ON JAIN MANDIR MARG BETWEEN NH 48 AND NH 919	REWARI	Regular	100	OPEN	DC	35	35	1225	32	55	Draw of Lots	15	5
109	ON ANY MAJOR ROAD OF SECTOR 104 AND 105, GURUGRAM BETWEEN KM STONE 40 AND 45 ON DELHI JAIPUR ROAD (NH	GURUGRAM	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
110	48), RHS	GURUGRAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	M.)/	Minimum imension (in Area of the in Sq. M.). *	site	be an	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
		3	Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
111	BETWEEN KM STONE 45 AND 50 ON DELHI JAIPUR ROAD (NH 48), RHS	GURUGRAM	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
112	WITHIN 2 KM FROM SHYAM BABA CHOWK TOWARDS DELHI ON UPPER NORTHERN PERIPHERAL ROAD	GURUGRAM	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
113	BETWEEN KM STONE 32 AND 40 ON DELHI JAIPUR ROAD (NH 48), RHS	GURUGRAM	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
114	FROM KHERKI MAJRA ROAD INTERSECTION TO DHARAMPUR MAIN MARG CORSSING WITH UPPER NORTHERN PERIPHERAL ROAD , ON UPPER NORTHERN PERIPHERAL ROAD	GURUGRAM	Regular	150	OPEN CC 1	DC	20	20	400	32	75	Draw of Lots	15	5
115	WITHIN 2 KMS FROM SHYAM BABA CHOWK TOWARDS JHAJJAR ON GURUGRAM JHAJJAR ROAD SH15A	GURUGRAM	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
116	(GURUGRAM PATAUDI ROAD) TOWARDS PATAUDI, RHS	GURUGRAM	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
117	ON ANY MAJOR ROAD OF SECTOR 106 AND 109, GURUGRAM WITHIN GURUGRAM MUNICIPAL LIMIT	GURUGRAM	Regular Regular	150 150	OPEN OPEN	CC	20	20	400	32 32	12 75	Bidding Draw of Lots	30 15	5
119	BETWEEN INTERSECTION OF GURUGRAM PATAUDI ROAD (NH352W) WITH IMT MANESAR ROAD AND WITH KMP	GURUGRAM	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
120	EXPRESSWAY ON GURUGRAM PATAUDI ROAD, RHS BETWEEN ATUL KATARIA CHOWK TO KAPASHERA BORDER ON	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
121	OLD DELHI GURGAON ROAD ON DWARKA EXPRESSWAY ROAD, FROM INTERSECTION WITH	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
121	GARHI ROAD TO INTERSECTION WITH PATAUDI ROAD , RHS WITHIN 8KMS TOWARDS GURUGRAM ,FROM KMP EXPRESSWAY INTERSECTION WITH GURUGRAM FARUKHNAGAR ROAD ,ON GURUGRAM FARUKHNAGAR ROAD (GURUGRAM	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of Lots Draw of Lots	15	5
123	SH15A) ON GURUGRAM PATAUDI ROAD(NH352W), BETWEEN IMT MANESAR ROAD AND KMP EXPRESSWAY TOWARDS PATAUDI,	GURUGRAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
124	WITHIN 6 KMS FROM KMP INTERSECTION TOWARDS	GURUGRAM	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
125	JHAJJAR,LHS,ON GURUGRAM JHAJJAR ROAD SH15A DADI SATI CHOWK TO NH48 VIA RAO BOHDU LAL CHOWK AND VIA CENTRAL PERIPHERAL ROAD (CPR)	GURUGRAM	Regular	150	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
126	BETWEEN INTERSECTION OF PATAUDI BILASPUR ROAD WITH GURUGRAM PATAUDI ROAD AND WITH NH48, ON PATAUDI -	GURUGRAM	Regular	100	OPEN PH	DC	30	30	900	32	55	Draw of Lots	15	5
127	BILASPUR ROAD, RHS WITHIN 1 KMS ON EITHER SIDE FROM VIBRANT HOSPITAL ON	GURUGRAM	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
128	GURUGRAM- BASAI ROAD ON DHARAMPUR MAIN MARG IN SECTOR 107 AND SECTOR	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
	108 BETWEEN INTERSECTION OF GURUGRAM NAJAFGARH BAIGHERA ROAD WITH CATERPURI ROAD AND WITH DWARKA EXPRESSWAY, ON GURUGRAM-BAIGHERA-NAJAFGARH ROAD	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
130	ON GURUGRAM BASAI ROAD BETWEEN SOHNA CHOWK TO PATAUDI CHOWK , TOWARDS BASAI, LHS	GURUGRAM	Regular	150	OPEN	СС	20	20	400	32	12	Bidding	30	5
131	BETWEEN KM STONE 70 AND 74, ON NH-19 FROM DELHI TO MATHURA, RHS	PALWAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
132	WITHIN 3 KMS FROM DAULTABAD MAIN ROAD INTERSECTION WITH OLD RAILWAY ROAD, ON OLD RAILWAY ROAD ON NORTHERN PERIPHERAL ROAD (DWARKA EXPRESSWAY)	GURUGRAM	Regular	150	OPEN	сс	20	20	400	32	12	Bidding	30	5
133	BETWEEN DWARKA EXPRESSWAY BASAI ROAD CROSSING AND DAULTABAD CHOWK.	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
134	ON DWARKA EXPRESSWAY LINK ROAD , BETWEEN JAI SINGH CHOWK TO DWARKA EXPRESSWAY INTER SECTION 1 KM EITHER SIDE OF VILLAGE KANWARSIKA, INCLUDING	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
135	VILLAGE- KANWARSIKA ON GURUGRAM-ALWAR ROAD, NH- 248A, LHS	NUH	Regular	150	OBC	cc	40	45	1800	32	12	Bidding	30	4
136	ON ROAD CONNECTING CYBER CITY TO GURU DRONACHARYA METRO STATION, LHS	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
137	1 KM EITHER SIDE OF VILLAGE- SALAMBA INCLUDING VILLAGE SALAMBA, ON GURUGRAM-ALWAR ROAD, NH-248A, RHS	NUH	Regular	150	OPEN CC 1	DC	40	45	1800	32	95	Draw of Lots	15	5
138	SECTOR-78, ON DIVIDING ROAD OF SECTOR-78 AND SECTOR-79	GURUGRAM	Regular	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
139	1 KM EITHER SIDE OF VILLAGE- FEROZEPUR JHIRKA, INCLUDING VILLAGE FEROZEPUR JHIRKA ON GURUGRAM-ALWAR ROAD, NH-248A, RHS	NUH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
140	ON SOUTHERN PERIPHERAL ROAD, BETWEEN VATIKA CHOWK TO CLOVER LEAF FLYOVER, RHS BETWEEN KM STONE 25 AND 30, ON NH-919, PALWAL-REWARI	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
141	BETWEEN KM STONE 25 AND 30, ON NH-919, PALWAL-REWARI ROAD 1 KM EITHER SIDE OF VILLAGE- AGON INCLUDING VILLAGE- AGON, ON GURUGRAM-ALWAR ROAD, NH-248A, RHS	GURUGRAM	Regular Regular	150	OPEN	CC DC	35 35	35 35	1225	32	12 95	Bidding Draw of Lots	30 15	5
143	2 KM EITHER SIDE OF VILLAGE -DHUNELA INCLUDING VILLAGE DHUNELA, ON GURUGRAM-ALWAR ROAD, NH-248A, RHS	GURUGRAM	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
144	SECTOR-64, ON SECTOR ROAD DIVIDING SECTOR 63 AND SECTOR 64	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
145	BETWEEN GURJAR SAMRAT MIHIR BHOJ CHOWK AND GOLF COURSE EXT ROAD, ON GOLF ESTATE ROAD, GURUGRAM	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
146	SECTOR-69, ON SECTOR ROAD DIVIDING SECTOR 68 AND SECTOR 69	GURUGRAM	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
147	SECTOR-79, ON DIVIDING ROAD OF SECTOR-78 AND SECTOR-79	GURUGRAM	Regular	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
148	BETWEEN GHAMROJ TOLL PLAZA AND DELHI-MUMBAI EXPRESSWAY, ON GURUGRAM TO SOHNA ROAD,NH-248A ON NAURANGPUR TAURU ROAD, FROM NH-48 INTERSECTION	GURUGRAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
149	TOWARDS NAURANGPUR, WITHIN MUNICIPAL LIMITS OF GURUGRAM	GURUGRAM	Regular	150	OPEN	DC	20	20	400	32	75	Draw of Lots	15	5
150	BETWEEN KM STONE 36 AND 38, ON NH919, PALWAN -SOHNA ROAD, LHS BETWEEN VATIKA CHOWK TO CLOVER LEAF FLYOVER,ON	NUH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
151	SOUTHERN PERIPHERAL ROAD, LHS 1 KM EITHER SIDE OF VILLAGE -SISWANA JATKA INCLUDING VILLAGE-SISWANA JATKA, ON GURUGRAM-ALWAR ROAD, NH-	GURUGRAM	Regular Regular	150	SC OPEN	CFS DC	20 35	20 35	400 1225	32	95	Draw of Lots Draw of lots	0	3
153	248A, ON CAPTAIN CHANDAN LAL MARG (CONNECTING SOHNA	GURUGRAM	Regular	150	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
135	ROAD-NH 248A TO NH 48 VIA BEHRAMPUR)	COROGRAM	regulai	130	UBL	DC	20	20	400	32	/3	DIAW OI LOTS	13	*

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). ⁴	site	be an	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	Regular / Rural	MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	9b Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
154	1 KM EITHER SIDE OF VILLAGE MANDHI INCLUDING VILLAGE MANDHI ON GURUGRAM-ALWAR ROAD, NH-248A, LHS	NUH	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
155	BETWEEN KM STONE 35 AND 55, ON NH48, DELHI TO JAIPUR ROAD, LHS	GURUGRAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
156	WITHIN 3 KMS FROM AKHERA POLICE CHOWKI TOWARDS BADKALI CHOWK, ON GURUGRAM-ALWAR ROAD, NH-248A, LHS	NUH	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
157	BETWEEN KM STONE 46 AND 52, ON TAURU TO BHIWADI ROAD, NH-919, LHS	NUH	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
158	ANYWHERE WITHIN MUNICIPAL LIMITS OF SOHNA 2 KM EITHER SIDE OF VILLAGE -SALAMBA INCLUDING VILLAGE-	GURUGRAM	Regular Regular	100	OPEN OPEN	DC DC	20 35	20 35	400 1225	32	55 95	Draw of Lots Draw of Lots	15	5
	SALAMBA ON GURUGRAM-ALWAR ROAD, NH-248A, LHS BETWEEN SUBHASH CHOWK AND BADSHAPUR CHOWK		regular											
160	(VATIKA CHOWK), ON GURGAON- SOHNA ROAD,NH-248A, RHS BETWEEN KM STONE 40 AND 46, ON TAURU TO BHIWADI	GURUGRAM	Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
161	ROAD, NH-919 WITHIN 3 KM FROM DELHI MUMBAI EXPRESSWAY AND NH-919	NUH	Regular	150	OBC	cc	35	35	1225	32	12	Bidding	30	4
162	CROSS SECTION, ON PALWAL-REWARI ROAD(NH-919), TOWARDS PALWAL BETWEEN KM STONE 1 AND 10 ON REWARI- NARANUAL ROAD,	GURUGRAM	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
163	BETWEEN KM STONE 1 AND 10 ON REWART- NARANUAL ROAD, NH11, LHS WITHIN 8 KM FROM INTERSECTION OF SH-24 AND NH-152D ON	REWARI	Regular	150	OPEN CC 1	DC	40	45	1800	32	95	Draw of Lots	15	5
165	SH-24 TOWARDS KANINA. BETWEEN KM STONE 1 AND 10 ON REWARI- NARANUAL ROAD,	REWARI	Regular	100	OBC	DC CFS	35 40	35 45	1225	32 0	75 0	Draw of Lots Draw of Lots	15 0	3
166	NH11, RHS BETWEEN KM STONE 20 AND 25 ON PANIYALA MOD - NARNAUL ROAD, NH148B, RHS	MAHENDRAGARH	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
167	BETWEEN KM STONE 20 AND 25 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS	MAHENDRAGARH	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
168	BETWEEN KM STONE 25 AND 30 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS	MAHENDRAGARH	Regular	150	OBC	DC	40	45	1800	32	95	Draw of lots	15	4
169	BETWEEN KM STONE 30 AND 40 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS	MAHENDRAGARH	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
170	BETWEEN KM STONE 17 AND 20 ON PANIYALA MOD - NARNAUL ROAD, NH148B, RHS WITHIN 2 KM ON EITHER SIDE FROM VILLAGE BUCHAWAS 0	MAHENDRAGARH	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
171	KM ,ON KANINA - MAHENDERGARH ROAD SH24 VILLAGE MAJRA KHURD ON KANINA - MAHENDERGARH ROAD,	MAHENDRAGARH MAHENDRAGARH	Regular	100	OPEN	DC DC	35	35 35	1225	32	75 75	Draw of Lots Draw of Lots	15 15	5
172	SH24 BETWEEN KM STONE 10 AND 12 ON PANIYALA MOD -	MAHENDRAGARH	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
174	NARNAUL ROAD, NH148B, RHS BETWEEN KM STONE 30 AND 40 ON PANIYALA MOD - NARNAUL ROAD, NH148B, RHS	MAHENDRAGARH	Regular	150	SC CC 1	CFS	40	45	1800	0	0	Draw of Lots	0	3
175	BETWEEN KM STONE 25 AND 30 ON PANIYALA MOD - NARNAUL ROAD, NH148B, RHS	MAHENDRAGARH	Regular	150	OPEN CC 2	DC	35	35	1225	32	95	Draw of Lots	15	5
176	BETWEEN KM STONE 17 AND 20 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS	MAHENDRAGARH	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
177	BETWEEN KM STONE 10 AND 12 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS BETWEEN KM STONE 88 AND 94 ON DELHI JAIPUR ROAD,	MAHENDRAGARH	Regular	150	OPEN	СС	40	45	1800	32	12	Bidding	30	5
178	NH48(OLD NH8), RHS	REWARI	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
179	BETWEEN INTERSECTION OF RAMGARH ROAD WITH NH 352 UP TO DAKSH PRAJAPATI CHOWK ON RAMGARH ROAD	REWARI	Regular	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
180 181	BETWEEN KM STONE 6 AND 8 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS WITHIN MUNICIPAL LIMITS OF NARNAUL	MAHENDRAGARH MAHENDRAGARH	Regular Regular	150 100	OPEN OPEN	DC DC	40 20	45 20	1800 400	32 32	95 55	Draw of Lots Draw of Lots	15 15	5
182	1 KM EITHER SIDE OF VILLAGE -PADLA INCLUDING VILLAGE -	REWARI	Regular	150	OBC	DC	40	45	1800	32	95	Draw of lots	15	4
183	PADLA ON REWARI-NARNAUL ROAD, NH-11, LHS BETWEEN KM STONE 88 AND 94 ON DELHI JAIPUR ROAD,	REWARI	Regular	150	SC	CFS	40	45	1800	0	0	Draw of Lots	0	3
	NH48(OLD NH 8), LHS WITHIN MUNICIPAL LIMITS OF MAHENDERGARH BETWEEN KM STONE NO 8 AND 10 ON PANIYALA MOD -	MAHENDRAGARH	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
185 186	NARNAUL ROAD, NH148B, RHS WITHIN MUNICIPAL LIMITS OF REWARI	MAHENDRAGARH REWARI	Regular Regular	150 100	OPEN OBC	DC DC	40 20	45 20	1800 400	32 32	95 55	Draw of Lots Draw of Lots	15 15	5
187	WITHIN 2 KM FROM RAJASTHAN BORDER TOWARDS REWARI ON REWARI- SHAHJAHANPUR ROAD, SH-15	REWARI	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
188	BETWEEN KM STONE 6 AND 8 ON PANIYALA MOD - NARNAUL ROAD, NH148B, RHS WITHN 3 KMS FROM MAHAVIR CHOWK TOWARDS	MAHENDRAGARH	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
189	MAHENDERGARH ON NARNAUL MAHENDERGARH ROAD 1 KM EITHER SIDE OF VILLAGE- KHOR INCLUDING VILLAGE-	MAHENDRAGARH MAHENDRAGARH	Regular	100	OPEN CC 1 OBC	DC DC	30 40	30 45	900	32	55 95	Draw of Lots Draw of lots	15 15	5
	KHOR ON REWARI-NARNAUL ROAD, NH-11, RHS WITHIN MUNICIPAL LIMITS OF NANGAL CHAUDHARY		Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
192	BETWEEN KM STONE 8 AND 10 ON PANIYALA MOD - NARNAUL ROAD, NH148B, LHS BETWEEN KM STONE 104 AND 106 ON DELHI JAIPUR ROAD,	MAHENDRAGARH	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
193	NH48(OLD NH 8), LHS BETWEEN KM STONE 12 AND 17 ON PANIYALA MOD -	MAHENDRAGARH	Regular Regular	150 150	OPEN	DC CC	40	45 45	1800	32	95	Draw of Lots Bidding	15 30	5
194	NARNAUL ROAD, NH148B, LHS BETWEEN KM STONE 86 AND 88 ON DELHI JAIPUR ROAD,	REWARI	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
196	NH48(OLD NH 8), LHS BETWEEN KM STONE 12 AND 17 ON PANIYALA MOD - NARNAUL ROAD, NH148B, RHS	MAHENDRAGARH	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
197	BETWEEN KM STONE 102 AND 104 ON DELHI JAIPUR ROAD, NH48(OLD NH 8), LHS	REWARI	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
198	BETWEEN KM STONE 100 AND 102 ON DELHI JAIPUR ROAD, NH48(OLD NH 8), LHS	REWARI	Regular	150	OBC	DC	40	45	1800	32	95	Draw of Lots	15	4
199	BETWEEN KM STONE 98 AND 100 ON DELHI JAIPUR ROAD, NH48(OLD NH 8), LHS BETWEEN KM STONE 80 AND 86 ON DELHI JAIPUR ROAD,	REWARI	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
200	NH48(OLD NH 8), LHS BETWEEN KM STONE 104 TO RAJASTHAN BORDER ON DELHI	REWARI	Regular	150 150	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
201	JAIPUR ROAD, NH48(OLD NH8), RHS BETWEEN KM STONE 75 AND 80 ON DELHI JAIPUR ROAD,	REWARI	Regular	150	OBC PH OPEN	DC DC	35 40	35 45	1225	32	95 95	Draw of Lots Draw of Lots	15 15	5
203	NH48(OLD NH -8), RHS BETWEEN KM STONE 100 AND 104 ON DELHI JAIPUR ROAD, NH48(OLD NH 8), RHS	REWARI	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
204	BETWEEN KM STONE 86 AND 88 ON DELHI JAIPUR ROAD,NH48(OLD NH 8), RHS	REWARI	Regular	150	OBC	DC	40	45	1800	32	95	Draw of Lots	15	4
205	BETWEEN KM STONE 80 AND 84 ON DELHI JAIPUR ROAD, NH48(OLD NH 8), RHS	REWARI	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
206	BETWEEN KM STONE 98 AND 100 ON DELHI JAIPUR ROAD, NH48(OLD NH 8), RHS	REWARI	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). 1	site	be ar by	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
			Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
207	BETWEEN KM STONE 75 AND 80 ON DELHI JAIPUR ROAD, NH48 (OLD NH8), LHS	REWARI	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
208	VILLAGE JHAL, ON KANINA KOSLI ROAD SH22 LHS IN BETWEEN VILLAGE -SHEOJIPURA (INCLUDING VILLAGE-	REWARI	Regular	100	OBC	CC	35	35	1225	32	12	Bidding	30	4
209	SHEOJIPURA) & NH 352 CROSSING ON SH15A (JHAJJAR- FARRUKHNAGAR ROAD) BETWEEN IMT CIRCLE ROUND ABOUT AND INTERSECTION	JHAJJAR	Regular	100	SC OPEN	CFS DC	35	20	1225	32	55	Draw of Lots Draw of Lots	15	3
	WITH NH09 (KHARAWAR CHOWK) ON ROHTAK- DELHI ROAD WITHIN 1 KM FROM RAJIV CHOWK (ROHTAK CITY) TOWARDS													
211	ROHTAK BUS STAND , LHS. WITHIN 4 KM FROM THE INTERSECTION OF NH09 & SH22,TOWARDS BAHADURGARH ON SH22 JHAJJAR - BAHADURGARH ROAD (WITHIN MUNICIPAL LIMIT OF	JHAJJAR	Regular	100	OPEN	DC	20	20	400	32	55 75	Draw of Lots Draw of Lots	15	5
213	BAHADURGARH) BETWEEN JHAJJAR OUTER BYPASS (NH352 -NH334B CROSSING) AND CHHARA TOLL PLAZA ON NH334B JHAJJAR- KHARKHAUDA	JHAJJAR	Regular	150	OBC	DC	40	45	1800	32	95	Draw of Lots	15	4
214	ROAD, RHS 3 KM FROM IOC PETROL PUMP KHATRI BROTHERS TOWARDS	ROHTAK	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
214	MEHAM ON GOHANA MEHAM ROAD, SH16A. BETEEN KM STONE 67 AND 72 ON JHAJJAR-KHARKHAUDA	JHAJJAR	Regular	150	OPEN CC 1	CC	40	45	1800	32	12	Bidding	30	5
216	ROAD, NH-334B WITHIN 8 KMS FROM RAO MANGLI RAM CHOWK TOWARDS CHARKHI DADRI ON JHAJJAR - CHARKHI DADRI ROAD, NH 334B, RHS	JHAJJAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
217	BETWEEN KM STONE 35 TO 45 ON DELHI - ROHTAK ROAD,	JHAJJAR	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of lots	15	5
218	NH09 (OLD NH10), LHS WITHIN 5 KMS FROM LAKHANMAJRA CHOWK TOWARDS MEHAM ON SH164 GOHANA MEHAM ROAD	ROHTAK	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
219	MEHAM ON SH16A, GOHANA MEHAM ROAD BETWEEN KM STONE NUMBER 35 AND 45 ON DELHI - ROHTAK ROAD. NH09(OLD NH10). RHS	JHAJJAR	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of lots	15	5
220	WITHIN 10 KMS FROM MAHARAJA SHOOR SAINI CHOWK TOWARDS KOSLI,ON JHAJJAR- KOSLI ROAD, SH22	JHAJJAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
221	BETWEEN KM STONE 45 AND 51 ON DELHI -ROHTAK ROAD, NH09(OLD NH-10), RHS	JHAJJAR	Regular	150	OPEN	СС	35	35	1225	32	12	Bidding	30	5
222	BETWEEN KM STONE 64 TO 66 ON ROHTAK TO DELHI ROAD NH09 (OLD NH10) LHS	ROHTAK	Regular	150	OPEN	СС	40	45	1800	32	12	Bidding	30	5
223	WITHIN 8 KMS FROM RAO MANGLI RAM CHOWK TOWARDS CHARKHI DADRI ON JHAJJAR - CHARKHI DADRI ROAD NH 334B LHS	JHAJJAR	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
224	BETWEEN KM STONE 93 AND 97 ON DELHI -HISSAR ROAD, NH09 (OLD NH10), LHS	ROHTAK	Regular	150	OBC CC 1	DC	35	35	1225	32	95	Draw of Lots	15	4
225	BETWEEN KM STONE 93 AND KM STONE 97 ON DELHI ROHTAK ROAD NH 09 (OLD NH10) RHS	ROHTAK	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
226	WITHIN THE BOUNDARY OF ROHTAK DISTRICT ON NH334B (KHARKHAUDA- SAMPLA-JHAJJAR ROAD), LHS	ROHTAK	Regular	150	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
227	BETWEEN MADINA KORSAN TOLL PLAZA AND END OF LIMITS OF ROHTAK DISTRICT ON ROHTAK - HISAR ROAD , NH09 (OLD NH-10), LHS	ROHTAK	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
228 229	WITHIN MUNICIPAL LIMIT ROHTAK -2 (EXCEPT ON NH) WITHIN MUNICIPAL LIMIT ROHTAK -3 (EXCEPT ON NH)	ROHTAK ROHTAK	Regular Regular	100 100	OBC OPEN	DC DC	20 20	20 20	400 400	32 32	55 55	Draw of Lots Draw of Lots	15 15	4 5
230	BETWEEN VILLAGE DADANPUR AND DUJANA INCLUDING VILLAGE DADANPUR AND DUJANA ON NH352 (OLD NH71) REWARI ROHTAK ROAD	JHAJJAR	Regular	150	OBC	DC	40	45	1800	32	95	Draw of Lots	15	4
231	15 KM FROM MADINA KORSAN TOLL PLAZA TOWARDS HISAR ON ROHTAK - HISAR ROAD , NH09 (OLD NH 10) , RHS	ROHTAK	Regular	150	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
232	BETWEEN KM STONE 53 AND 63 ON NH 09 (OLD NH 10) ON DELHI - ROHTAK ROAD, RHS	ROHTAK	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
233	BETWEEN VILLAGE TITOLI & END OF LAKHAN MAJRA BYPASS ON ROHTAK JIND ROAD, NH352 DISTRICT ROHTAK	ROHTAK	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
234	WITHIN 3 KM FROM HP PETROL PUMP VIJAY FILLING STATION TOWARDS JHAJJAR, RHS ON FARUKHNAGAR TO JHAJJAR ROAD ,SH 15A	JHAJJAR	Regular	100	OPEN	сс	35	35	1225	32	12	Bidding	30	5
235	WITHIN THE BOUNDARY OF JHAJJAR DISTRICT FROM DIGHAL TOLL PLAZA TOWARDS REWARI ON NH352 (OLD NH71)	JHAJJAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
236	WITHIN MUNICIPAL LIMIT OF JHAJJAR -1 (EXCEPT ON NH) WITHIN MUNICIPAL LIMIT OF BAHADURGARH, ON OLD DELHI	JHAJJAR	Regular	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
237	ROHTAK ROAD (OLD NH10) FROM KRISHNA HAVELI RESTAURANT MAIN GATE, TOWARDS	JHAJJAR	Regular	100	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
238	ROHTAK ,ON NH352, ROHTAK TO JIND ROAD . WITHIN MUNICIPAL LIMIT JHAJJAR -2 (EXCEPT ON NH)	ROHTAK JHAJJAR	Regular Regular	150 100	OPEN CC 1 OBC	DC DC	40 20	45 20	1800 400	32 32	95 55	Draw of lots Draw of Lots	15 15	5
240	WITHIN MUNICIPAL LIMIT ROHTAK- 1 (EXCEPT ON NH) BETWEEN JIND BYPASS CHOWK AND MAJOR SAITAN SINGH BHATI PVC CHOWK ON OUTER CITY ROAD ROHTAK	ROHTAK	Regular Regular	100	SC OPEN	CFS DC	20	20	400	32	0 55	Draw of Lots Draw of Lots	0	3
242	WITHIN THE BOUNDARY OF JHAJJAR DISTRICT ,FROM THE INTERSECTION OF NH 334B AND MDR 130 (NEAR CHHUCHHAKWAS POLICE STATION) TOWARSD DADRI ON	JHAJJAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
243	NH334B (JHAJJAR DADRI ROAD) BETWEEN KM STONE 45 AND 51, ON DELHI ROHTAK ROAD ,	JHAJJAR	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
244	NH09 (OLD NH10), LHS BETWEEN KM STONE 53 AND MANNAT HAVELI RESTAURANT MAIN GATE , ON DELHI-ROHTAK ROAD , NH 09 (OLD NH10), IHS	ROHTAK	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of Lots	15	5
245	LHS 4 KMS FROM VILLAGE KANSALA INCLUDING VILLAGE KANSALA,TOWARDS ROHTAK, ON SONIPAT-ROHTAK ROAD,SH18	ROHTAK	Regular	100	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
246	BETWEEN COLLEGE MOD AND END OF LIMITS OF ROHTAK DISTRICT ON ROHTAK BHIWANI ROAD, NH709E	ROHTAK	Regular	150	OBC	DC	40	45	1800	32	95	Draw of Lots	15	4
247	BETWEEN BHAGAT SINGH CHOWK AND RUPIYA CHOWK, WITHIN MUNICIPAL LIMIT OF ROHTAK	ROHTAK	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
248	WITHIN MUNICIPAL LIMIT BAHADURGARH (EXCEPT ON NH) WITHIN THE BOUNDARY OF ROHTAK DISTRICT, FROM START	JHAJJAR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
249	OF LAKHANMAIRA BYPASS TOWARDS JIND ON NH352 , ROHTAK JIND ROAD, RHS WITHIN 10 KMS FROM NH352 AND NH352R CROSSING, TOWARDS BANADURGABL ON HALLAR BANADURGARI POAD	ROHTAK	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
250	TOWARDS BAHADURGARH ,ON JHAJJAR BAHADURGARH ROAD, NH352R(OLD SH-22), RHS FROM VALMIKI CHOWK TOWARDS HISSAR, ON OLD ROHTAK-	ROHTAK	Regular	150	OBC	DC	35	20	1225	32	95 55	Draw of Lots Draw of Lots	15	5
	HISAR MARG, WITHIN MUNICIPAL LIMIT OF ROHTAK WITHIN 2 KM OF MILLENIUM WORLD SCHOOL MAIN GATE,													
252	CHEEKA ON RHS TOWARDS KAITHAL, KAITHAL-CHEEKA ROAD(SH11)	KAITHAL	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	M.)/	Minimum imension (i Area of the in Sq. M.). 1	site	be an	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
	2	3	Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	n	12
253	WITHIN 2 KM OF KICHHANA KUI CHOWK ON SH11(KAITHAL - ASSANDH ROAD)	KAITHAL	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
254	VILLAGE LOTNI(LOTANI) TO INTERSECTION OF NH152D(AMBALA-NARNAUL EXPRESSWAY) WITH NH152(HISSAR - AMBALA RD) ON NH152(HISSAR -AMBALA RD)	KURUKSHETRA	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
255	WITHIN 3 KM FROM SHAHEED UDHAM SINGH CHOWK TOWARDS PEHOWA ON CHEEKA-PEHOWA ROAD	KAITHAL	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
256	WITHIN 1 KM OF NEW GRAIN MARKET POLICE STATION, KAITHAL MAIN GATE ON NEW GRAIN MARKET ROAD, KAITHAL	KAITHAL	Regular	100	OPEN	DC	25	25	625	32	55	Draw of lots	15	5
257	WITHIN 2 KM OF GURUKUL TAKSHILA MAIN GATE ON KAITHAL- KARNAL ROAD(SH8), RHS TOWARDS KARNAL	KAITHAL	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
258	BETWEEN KMSTONE 46 AND KMSTONE 50 ON KAITHAL- KARNAL ROAD(SH8), LHS TOWARDS KARNAL WITHIN 2 KM FROM GURUNANAK VATIKA PUBLIC SCHOOL	KAITHAL	Regular	100	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
259	MAIN GATE, ON NH-152 (HISSAR - AMBALA RD) , ON LHS TOWARDS HISSAR	KURUKSHETRA	Regular	150	OPEN	DC	45	45	2025	32	95	Draw of lots	15	5
260	ON MAHARAJA SURAJMAL ROAD(CHEEKA-BALBEHRA RD) TOWARDS BALBEHRA WITHIN MUNICIPAL LIMITS OF CHEEKA	KAITHAL	Regular	100	OPEN	DC	30	30	900	32	55	Draw of lots	15	5
261	WITHIN 2 KM OF NH152D(AMBALA-NARNAUL EXPRESSWAY) INTERSECTION WITH SH33, ON NILOKHERI-DHAND ROAD(SH33)	KAITHAL	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of lots	15	4
262	ON NH-152 (HISSAR - AMBALA RD) BETWEEN KMSTONE 56 TO KMSTONE 59 ON RHS TOWARDS AMBALA	KAITHAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
263	WITHIN 1 KM OF INTERSECTION OF SH4(TAGORI-JHANSA RD) AND NH152(HISSAR-AMBALA RD) ON NH152(HISSAR-AMBALA RD)	KURUKSHETRA	Regular	150	sc	CFS	45	45	2025	0	0	Draw of lots	0	3
264	WITHIN 2 KM OF SAMRAT MIHIR BHOJ MAHAN CHOWK ON KAITHAL-KURUKSHETRA ROAD(MDR 119)	KAITHAL	Regular	100	OBC	DC	30	30	900	32	55	Draw of lots	15	4
265	WITHIN 2 KM OF NH152D(AMBALA-NARNAUL EXPRESSWAY) INTERSECTION WITH KAITHAL-KARNAL ROAD(SH8), LHS TOWARDS KARNAL ON KAITHAL-KARNAL ROAD(SH8)	KAITHAL	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of lots	15	5
266	IN WARD NUMBER 20 ON KHANOURI BYPASS ROAD BETWEEN KMSTONE 42 TO 45 ON LEFT HAND SIDE, FROM	KAITHAL	Regular	100	OPEN	DC	30	30	900	32	55	Draw of lots	15	5
267	BAGHPAT TO JHAJJAR ROAD, NH 334B ON LEFT HAND SIDE OF BARSAT ROAD FROM NH-44 INTERSECTION TO VILLAGE AJIZULAHPUR, WITHIN MUNICIPAL	PANIPAT	Regular Regular	150	SC	CFS DC	20	20	1800 400	32	55	Draw of lots Draw of lots	15	4
269	LIMITS OF PANIPAT CITY VILLAGE- NOOR WALA ON BARSAT ROAD, WITHIN MUNICIPAL LIMITS OF PANIPAT CITY, ON RIGHT HAND SIDE WHILE TRAVELLING TOWARDS BARSAT	PANIPAT	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
270	ON NH-44 (DELHI - AMBALA RD) BETWEEN KMSTONE 51 TO KMSTONE 53 ON RIGHT HAND SIDE TOWARDS AMBALA	SONIPAT	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of lots	15	5
271	ON ASANDH- PANIPAT ROAD WITHIN MUNICIPAL LIMITS OF MADLAUDA	PANIPAT	Regular	100	SC	CFS	30	30	900	0	0	Draw of lots	0	3
272	ON LEFT HAND SIDE OF NH-352 A BETWEEN KM STONE 30 & 32 TOWARDS JIND, ON GOHANA -JIND ROAD ON NH-44 (DELHI - AMBALA RD) BETWEEN KMSTONE 44 TO	SONIPAT	Regular	150	OBC	СС	40	45	1800	32	12	Bidding	30	4
273	KMSTONE 49 ON LEFT HAND SIDE TOWARDS AMBALA ON LEFT HAND SIDE OF NH 709 BETWEEN KM STONE 2 AND	PANIPAT	Regular	150	OPEN CC 2	DC DC	40	45	1800	32	95 95	Draw of lots	15	5
275	KM STONE 5 FROM PANIPAT TOWARDS ROHTAK VILLAGE SHODAPUR, ON SH14, PANIPAT- ASSANDH ROAD	PANIPAT	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of lots	15	4
276	ON NH-44 (DELHI-AMBALA) BETWEEN KMSTONE 96 TO KMSTONE 100	PANIPAT	Regular	150	SC CC 1	CFS	40	45	1800	0	0	Draw of lots	0	3
277	VILLAGE HARSANA KALAN , ON LEFT HAND SIDE OF NH 334B FROM JHAJJAR TO BAGHPAT	SONIPAT	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of lots	15	5
278	ON LEFT HAND SIDE OF SH18 BETWEEN KMSTONE 34 TO KMSTONE 36 FROM GOHANA TOWARDS DELHI	SONIPAT	Regular	100	OPEN	DC	40	40	1600	32	75	Draw of lots	15	5
279	VILLAGE- KHEWRA, ON JHAJJAR BAGHPAT ROAD, NH334B BETWEEN KM STONE 63 AND 66 ON NH 352A, ON LEFT HAND	SONIPAT	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
	SIDE FROM SONIPAT TO GOHANA ON KHANDA BYEPASS ROAD CONNECTING NH 334 B WITH SH	SONIPAT	Regular	150	SC	CFS	40	45	1800	0	0	Draw of lots	0	3
281	18, WITHIN MUNICIPAL LIMITS OF KHARKHAUDA ON ROAD CONNECTING RAMSWAROOP CHOWK TO KABRI	SONIPAT	Regular	100	OPEN	DC	35	35	1225	32	55	Draw of lots	15	5
282	ROAD, WITHIN MUNICIPAL LIMIT OF PANIPAT CITY VILLAGE AHULANA ON GOHANA -MEHAM ROAD	PANIPAT SONIPAT	Regular Regular	100	OPEN OBC	DC DC	20 35	20 35	400 1225	32 32	55 75	Draw of lots Draw of lots	15 15	5
284	BETWEEN SONIPAT BUS STAND AND CHOTURAM DHARAMSHALA ON NH 352A, WITHIN MUNICIPAL LIMITS OF SONIPAT CITY	SONIPAT	Regular	150	OPEN	DC	30	30	900	32	95	Draw of lots	15	5
285	UPTO 3 KM FROM KHARKHODA BYE PASS TOWARDS JHAROTHI ON RIGHT HAND SIDE ON NH 334B	SONIPAT	Regular	150	sc	CFS	40	45	1800	0	0	Draw of lots	0	3
286	WITHIN MUNICIPAL LIMITS OF GOHANA ON GOHANA MEHAM ROAD, SH16A ON KABRI ROAD FROM REFINERY ROAD TO VILLAGE KABRI.	SONIPAT	Regular	100	OPEN	СС	20	20	400	32	12	Bidding	30	5
287	WITHIN MUNICIPAL LIMITS OF PANIPAT CITY ON LEFT HAND SIDE OF NH 709 BETWEEN KMSTONE 8 TO	PANIPAT	Regular	100	OBC OPEN CC 1	DC DC	20	20 45	400 1800	32	55 95	Draw of lots	15	5
289	KMSTONE 11 TOWARDS ROHTAK ON LEFT HAND SIDE OF NH 709 BETWEEN KMSTONE 48 TO KMSTONE 50 FROM PANIPAT TOWARDS ROHTAK	SONIPAT	Regular	150	SC SC	CFS	40	45	1800	0	0	Draw of lots Draw of lots	0	3
290	VILLAGE- BAHALGARH, ON NH334B ON LEFT HAND SIDE WHILE GOING FROM JHAJJAR TO BAGHPAT	SONIPAT	Regular	150	OBC	СС	40	45	1800	32	12	Bidding	30	4
291	VILLAGE MAHAYUDINPUR THIRANA ON MADLAUDA TO OM SHANTI ROAD, WITHIN MUNICIPAL ROAD ON MADLAUDA	PANIPAT	Regular	100	OPEN	DC	35	35	1225	32	55	Draw of lots	15	5
292	BETWEEN KM STONE 51 AND 53 ON NH 352A, ON LEFT HAND SIDE FROM SONIPAT TO GOHANA BETWEEN FIIMS HOSPITAL AND NH44 ON SONIPAT -	SONIPAT	Regular	150	OPEN	DC	40	45	1800	32	95	Draw of lots	15	5
293	BAHALGARH ROAD, ON LEFT HAND SIDE WHILE GOING TOWARDS NH 44 ON LEFT HAND SIDE OF NH 709AD BETWEEN KMSTONE 10	SONIPAT	Regular	150	OBC	DC	30	30	900	32	55	Draw of lots	15	4
294	AND 12, WHILE GOING FROM PANIPAT TO HARIDWAR IN WARD NUMBER 11 OF PANIPAT CITY ON BABAIL ROAD,	PANIPAT	Regular	150	SC OPEN	CFS	40	45	1800	0	0	Draw of lots	0	3
295	WITHIN MUNICIPAL LIMITS OF PANIPAT CITY IN WARD NUMBER 12 OF PANIPAT CITY ON BABAIL ROAD,	PANIPAT	Regular Regular	100	OPEN	DC DC	20	20	400	32	55 55	Draw of lots Draw of lots	15	5
297	WITHIN MUNICIPAL LIMITS OF PANIPAT CITY KALKA, WITHIN MUNCIPAL LIMITS OF KALKA (NOT ON NH/SH)	PANCHKULA	Regular	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
298	IN OR BETWEEN VILLAGE PATTI JATTAN AND MATHERI SHEKHAN ON NH 152 (AMBALA-KAITHAL ROAD), WITHIN	AMBALA	Regular	150	sc	CFS	35	40	1400	0	0	Draw of lots	0	3
299	AMBALA DISTRICT ONLY ROAD CONNECTING VILLAGE BABYAL TO NH444A (TANGRI	AMBALA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
	BANDH ROAD), WITHIN MUNICIPAL LIMITS	l				-	l	L			· ·		1	

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	M.)/	Minimum imension (in Area of the in Sq. M.). *	site	be an	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
	-	-	Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		-
300	AMBALA CANTT TO HANDESRA ROAD VIA VILLAGE KALARHERI, WITHIN MUNICIPAL LIMITS	AMBALA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of lots	15	5
301	FROM MAHARANA PRATAP CHOWK, SHAHZADPUR TO AGGARSAIN CHOWK,NARAINGARH ON NH 7 (SHAHZADPUR- KALA AMB ROAD)	AMBALA	Regular	150	OBC PH	DC	35	40	1400	32	95	Draw of lots	15	4
302	FROM INDIRA CHOWK, AMBALA CANTT TO SAHA CHOWK (RAJIV CHOWK) ON NH 444A (AMBALA-SAHA ROAD)	AMBALA	Regular	150	SC PH	CFS	35	45	1575	0	0	Draw of lots	0	3
303	BETWEEN KM STONE 127 AND 125 ON NH 344 (SHAHZADPUR- YAMUNANAGAR ROAD), ON RHS TOWARDS YAMUNANAGAR	AMBALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of lots	15	5
304	BETWEEN KM STONE 110 AND 108 ON NH 344 (SHAHZADPUR- YAMUNANAGAR ROAD), ON LHS TOWARDS YAMUNANAGAR	AMBALA	Regular	150	OPEN	сс	35	45	1575	32	12	Bidding	30	5
305	VILLAGE KORA BHURA ON SH1 (NARAINGARH-RAIPUR RANI ROAD)	AMBALA	Regular	100	ОВС	DC	35	35	1225	32	75	Draw of lots	15	4
306	BETWEEN KM STONE 8 AND 11 ON NH152 (AMBALA CHANDIGARH ROAD), ON LHS TOWARDS CHANDIGARH, WITHIN MUNICIPAL LIMITS	AMBALA	Regular	150	OPEN	сс	30	30	900	32	12	Bidding	30	5
307	BETWEEN KM STONE 8 AND 11 ON NH152 (AMBALA- CHANDIGARH ROAD), ON RHS TOWARDS CHANDIGARH, WITHIN MUNICIPAL LIMITS	AMBALA	Regular	150	sc	CFS	30	30	900	0	0	Draw of lots	0	3
308	BETWEEN KM STONE 134 AND 132 ON NH 344 (SHAHZADPUR- YAMUNANAGAR ROAD)ON LHS TOWARDS YAMUNANAGAR	AMBALA	Regular	150	OPEN	сс	35	45	1575	32	12	Bidding	30	5
309	FROM AGGARSAIN CHOWK,NARAINGARH TO KALA AMB ON NH 7 (SHAHZADPUR-KALA AMB ROAD)	AMBALA	Regular	150	OBC	DC	35	45	1575	32	95	Draw of lots	15	4
310	UPTO 5KM FROM SAHA CHOWK (RAJIV CHOWK) TOWARDS AMBALA ON NH 444A (AMBALA-SAHA ROAD)	AMBALA	Regular	150	OPEN	DC	35	40	1400	32	95	Draw of lots	15	5
311	VILLAGE PANJLASSA ON NEW NH 72 (AMBALA -KALA AMB ROAD)	AMBALA	Regular	150	sc	CFS	35	40	1400	0	0	Draw of lots	0	3
312	BETWEEN KM STONE 138 AND 134 ON NH 344 (SHAHZADPUR- YAMUNANAGAR ROAD)	AMBALA	Regular	150	OBC	DC	35	40	1400	32	95	Draw of lots	15	4
313	UPTO 5 KM FROM SAHA CHOWK TOWARDS SHAHABAD ON NH 444A (SAHA-SAHABAD ROAD)	AMBALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of lots	15	5
314	BETWEEN KM STONE 108 AND 105 ON NH 344 (SHAHZADPUR- YAMUNANAGAR ROAD)	AMBALA	Regular	150	OPEN CC 1	DC	35	40	1400	32	95	Draw of lots	15	5
315	FROM AMBALA CANTT BUS STAND TO NEW GRAIN MARKET (NEW ANAJ MANDI) ON NH 44 (DELHI-JAMMU ROAD)	AMBALA	Regular	150	ОВС	DC	35	40	1400	32	95	Draw of lots	15	4
316	FROM POLYTECHNIC CHOWK TILL JANDLI FLYOVER, WITHIN MUNICIPAL LIMITS OF AMBALA CITY	AMBALA	Regular	100	sc	CFS	30	30	900	0	0	Draw of lots	0	3
317	WITHIN MUNICIPAL LIMITS OF NARAINGARH (NOT ON NH/SH)	AMBALA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
318	VILLAGE DINARPUR OR VILLAGE KESRI ON NH 444A, SAHA - SAHABAD ROAD	AMBALA	Regular	150	OPEN	DC	35	45	1575	32	95	Draw of lots	15	5
319	BETWEEN MAJRI CHOWK AND RAMGARH CHOWK ON NH-7 (PANCHKULA- SHAHZADPUR ROAD)	PANCHKULA	Regular	150	OBC	DC	35	40	1400	32	95	Draw of lots	15	4
320	IN OR BETWEEN RAMGARH AND ALIPUR ON NH 7 (PANCHKULA- SHAHZADPUR ROAD)	PANCHKULA	Regular	150	SC	CFS	35	40	1400	0	0	Draw of lots	0	3
321	UPTO 4 KM FROM DOSARKA CHOWK TOWARDS BARARA ON SH 4 (DOSARKA-BARARA ROAD)	AMBALA	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
322	JALBERA ROAD, WITHIN MUNICIPAL LIMITS OF AMBALA CITY	AMBALA	Regular	100	OPEN	DC	30	30	900	32	55	Draw of lots	15	5
323	BETWEEN KM STONE 150 AND 155 ON ON NH 7 (PANCHKULA- SHAHZADPUR ROAD) FROM CRPF CHOWK, PINJORE UPTO BADDI BORDER, ON NH	PANCHKULA	Regular	150	OPEN	DC	35	40	1400	32	95	Draw of lots	15	5
324	105 (PINJORE-BADDI ROAD), WITHIN PANCHKULA DISTRICT ONLY	PANCHKULA	Regular	150	OBC CC 1	DC	35	40	1400	32	95	Draw of lots	15	4
325	UPTO 7 KM FROM SHAHEED UDHAM SINGH CHOWK ADHOYA TOWARDS DOSARKA ON SH 4 (ADHOYA-DOSARKA ROAD)	AMBALA	Regular	100	SC CC 1	CFS	35	35	1225	0	0	Draw of lots	0	3
326	BETWEEN KM STONE 127 AND 132 ON NH 344 (SHAHZADPUR- YAMUNANAGAR ROAD)	AMBALA	Regular	150	OPEN PH	DC	35	40	1400	32	95	Draw of lots	15	5
327	FROM BALDEV NAGAR POLICE CHOWKI TOWARDS PANJOKHARA ON NH 344(AMBALA-SHAHZADPUR ROAD), WIHTIN MUNICIPAL LIMITS	AMBALA	Regular	150	OBC	DC	30	30	900	32	95	Draw of lots	15	4
328	VILLAGE KARDHAN ON TANGRI BANDH ROAD (WITHIN MUNICIPAL LIMIT)	AMBALA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
329	WITHIN MUNICIPAL LIMITS ON NH 5 (PANCHKULA SHIMLA HIGHWAY), WITHIN PANCHKULA DISTRICT ONLY	PANCHKULA	Regular	150	sc	CFS	30	30	900	0	0	Draw of lots	0	3
330	FROM MANAY CHOWK AMBALA TOWARDS HISSAR, ON AMBALA HISSAR ROAD, WITHIN MUNICIPAL LIMITS	AMBALA	Regular	100	OPEN	СС	30	30	900	32	12	Bidding	30	5
331	WITHIN 1 KM OF BURIA CHOWK TOWARDS BURIA, ON JAGADHRI-DEVDHAR ROAD. ON LHS TOWARDS AMBALA, BETWEEN KM STONE 662 AND KM	YAMUNANAGAR	Regular	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
332	STONE 660, NH 44 (DELHI - AMBALA ROAD) ON LHS TOWARDS SAHARANPUR, BETWEEN KM STONE 92 AND	YAMUNANAGAR	Regular Regular	150	OPEN OPEN	CC	35 40	35 45	1225	32	12 95	Bidding Draw of lots	30 15	5
224	KM STONE 94, NH 344 (AMBALA - SAHARANPUR ROAD) VILLAGE NARAINGARH MAJRI, ON SH-7 (SHAHBAD - LADWA													
334	ROAD) ON RHS TOWARDS AMBALA, BETWEEN KM STONE 683 AND	KURUKSHETRA	Regular	100	SC	CFS	35	35	1225	32	95	Draw of lots	15	3
335	KM STONE 681, NH 44 (DELHI - AMBALA ROAD) VILLAGE MATHANA ON SH-6, PIPLI - RADAUR ROAD, TEHSIL	KURUKSHETRA	Regular Regular	150	OBC	DC DC	35 35	35 35	1225	32	95 75	Draw of lots Draw of lots	15	5
336	THANESAR ON LHS TOWARDS SAHARANPUR, BETWEEN KM STONE 86 AND KM STONE 88, NH 344 (AMBALA - SAHARANPUR ROAD)	YAMUNANAGAR	Regular	150	OPEN CC 1	CC	35	35	1225	32	12	Bidding	30	5
338	VILLAGE KATHWALA ON NEWLY PROPOSED NH907, ON LHS	YAMUNANAGAR	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
339	TOWARDS JAGADHRI (JAGADHRI - TAJEWALA ROAD) VILLAGE KATHWALA ON NEWLY PROPOSED NH907, ON RHS	YAMUNANAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
340	TOWARDS JAGADHRI (JAGADHRI - TAJEWALA ROAD) VILLAGE SAMALKI, ON LHS TOWARDS AMBALA, NH 44 (DELHI -	KURUKSHETRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
341	AMBALA ROAD), TEHSIL SHAHBAD VILLAGE SISAULI, WITHIN MUNICIPAL LIMITS OF YAMUNA	YAMUNANAGAR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
342	NAGAR, ON SUDHAIL ROAD. VILLAGE MEHLANWALI ON NEWLY PROPOSED NH907	YAMUNANAGAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
343	(JAGADHRI - TAJEWALA ROAD) ON LHS TOWARDS AMBALA, BETWEEN KM STONE 685 AND KM	KURUKSHETRA	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
344	STONE 680, NH 44 (DELHI - AMBALA ROAD) WITHIN 1 KM FROM FOUNTAIN CHOWK TOWARDS RAILWAY STATION, ON RAILWAY STATION ROAD YAMUNANAGAR	YAMUNANAGAR	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
345	WITHIN MUNICIPAL LIMITS OF RADAUR, ON SH6	YAMUNANAGAR	Regular	100	OPEN	DC	30	30	900	32	75	Draw of lots	15	5
346	(YAMUNANAGAR- PIPLI ROAD) VILLAGE KHANPUR, ON SH 7 (LADWA - INDRI ROAD), TEHSIL	KURUKSHETRA	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
	LADWA													

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	M.)/	Minimum imension (i Area of the n Sq. M.). *	site	be are by	ranged the icant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
			Regular / Rural	MS+HSD in KIs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
347	VILLAGE URJANI ON NH907 (JAGADHRI - TAJEWALA ROAD)	YAMUNANAGAR	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
348	BETWEEN BRAHMA CHOWK AND RAJESH PILOT CHOWK, ON KDB ROAD, KURUKSHETRA	KURUKSHETRA	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
349	ON RHS TOWARDS AMBALA, BETWEEN KM STONE 670 AND KM STONE 668, NH 44 (DELHI - AMBALA ROAD)	KURUKSHETRA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
350	ON MDR 119 DHAND ROAD, WITHIN MUNICIPAL LIMITS OF THANESAR, KURUKSHETRA BETWEEN KMSTONE 688 AND KMSTONE 692, ON LHS	KURUKSHETRA	Regular	100	OBC	DC	20	20	400	32	55	Draw of lots	15	4
351	TOWARDS DELHI,NH-44(DELHI-AMBALA ROAD) BETWEEN KMSTONE 737 AND KMSTONE 735,ON LHS	KARNAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
352	TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD) BETWEEN KMSTONE 737 AND KMSTONE 732,ON RHS	KARNAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
353	TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD) BETWEEN KMSTONE 722 AND KMSTONE 724, ON LHS	KARNAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
354	TOWARDS DELHI,NH-44(DELHI-AMBALA ROAD)	KARNAL	Regular	150	OPEN	CC	40	45	1800	32	12	Bidding	30	5
355	BETWEEN KMSTONE 144 AND KMSTONE 141,ON LHS TOWARDS JIND,NH-709A(JIND-ASSANDH-KARNAL ROAD)	KARNAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
356	BETWEEN KMSTONE 697 AND KMSTONE 692, ON LHS TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD)	KARNAL	Regular	150	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
357	WITHIN 3KMS FROM KARNAL GATE H.A.P. MADHUBAN,ON LHS TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD)	KARNAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
	BETWEEN KMSTONE 113 AND KMSTONE 111,0N LHS				_							_		
358	TOWARDS JIND,NH-709A(JIND-ASSANDH-KARNAL ROAD)	KARNAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
359	WITHIN 2KMS FROM GHANTAKARNA MANDIR MAIN GATE,ON RHS TOWARDS KARNAL,SH-7(KARNAL-LADWA ROAD)	KARNAL	Regular	100	OPEN	DC	35	35	1225	32	75	Draw of lots	15	5
360	VILLAGE MAJRA RODAN,ON KARNAL-KAUL ROAD(SH-9),SUB- TEHSIL NIGDU	KARNAL	Regular	100	SC	CFS	35	35	1225	0	0	Draw of lots	0	3
361	BETWEEN KMSTONE 105 AND KMSTONE 100,ON RHS TOWARDS JIND,NH-709A(JIND-ASSANDH-KARNAL ROAD)	KARNAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
362	WITHIN 2KMS FROM I.T.I. CHOWK,ON RHS TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD)	KARNAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
363	WITHIN 5 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS HISAR ON NH-52 ON LHS WHILE MOVING FROM RAJGARH TO	BHIWANI	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
364	HISAR VILLAGE SAMBHLI,ON RHS TOWARDS KAUL, KARNAL-KAUL	KARNAL	Regular	100	OBC	DC	35	35	1225	32	75	Draw of lots	15	4
365	ROAD(SH-9),TEHSIL NISSING BETWEEN KMSTONE 29 AND KMSTONE 31,ON RHS TOWARDS	KARNAL	Regular	100	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
366	KAITHAL,SH-8(KARNAL-KAITHAL ROAD) WITHIN 2 KMS FROM TAU DEVI LAL CHOWK,ON LHS TOWARDS SHAMLI,KARNAL-MEERUT ROAD	KARNAL	Regular	150	OPEN	DC	30	30	900	32	95	Draw of lots	15	5
367	BETWEEN KMSTONE 696 AND KMSTONE 693, ON RHS TOWARDS AMBALA,NH-44(DELHI-AMBALA ROAD)	KARNAL	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of lots	15	5
368	ON NH-152 (HISSAR - AMBALA RD) BETWEEN KMSTONE 37 TO KMSTONE 40 ON RHS TOWARDS AMBALA	KAITHAL	Regular	150	OBC	DC	35	35	1225	32	95	Draw of lots	15	4
369	ON NH-152 (HISSAR - AMBALA RD) BETWEEN KMSTONE 26 TO KMSTONE 31 ON LHS TOWARDS AMBALA	KAITHAL	Regular	150	sc	CFS	35	35	1225	0	0	Draw of lots	0	3
370	WITHIN 2 KM OF GOVT. MIDDLE SCHOOL MAIN GATE, DEVIGARH ON DEVIGARH ROAD, WITHIN MUNICIPAL LIMITS OF KAITHAL	KAITHAL	Regular	100	OPEN	DC	20	20	400	32	55	Draw of lots	15	5
371	BETWEEN KM STONE 125 AND 127 ON NH-709E, ON RHS WHILE MOVING FROM BHIWANI TOWARDS LOHARU	BHIWANI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
372	BETWEEN KM STONE 160 AND 162 ON NH-52, ON LHS WHILE MOVING FROM HISAR TO RAJGARH	BHIWANI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
3/3	BETWEEN KM STONE 132 AND 134 ON NH-709E , ON RHS WHILE MOVING FROM BHIWANI TOWARDS LOHARU	BHIWANI	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
	BETWEEN KM STONE 20 AND 26 ON SH-23 BETWEEN KMSTONE 14 AND KMSTONE 16,ON LHS TOWARDS	SIRSA	Regular	110	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
375	DHAND, SH-33(NILOKHERI-KARSA-DHAND ROAD) WITHIN 3 KM FROM INDUS PUBLIC SCHOOL MIRCHPUR	KARNAL	Regular	100	OPEN CC 2	DC	35	35	1225	32	75	Draw of lots	15	5
376	TOWARDS BARWALA ON SH-10 VILLAGE - SUMRA KHERA ON NH-148B, ON RHS WHILE MOVING	HISAR	Regular	100	OBC CC 1	DC	35	35	1225	32	75	Draw of Lots	15	4
377 378	FROM BHIWANI TOWARDS HANSI VILLAGE - PATODI ON SH-12	BHIWANI	Regular Regular	150 120	OPEN SC	DC CFS	35 35	35 35	1225 1225	32 0	95	Draw of Lots Draw of Lots	15 0	5
379	WITHIN 2 KM FROM INTERSECTION OF DADRI-BHIWANI ROAD WITH MAHENDERGARH - CHARKHI DADRI ROAD TOWARDS MAHENDERGARH ON SH-17 ON LHS WHILE MOVING FROM CHARKHI DADRI TOWARDS MAHENDERGARH	CHARKHI DADRI	Regular	200	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
380 381	SIWANI WITHIN MUNICIPAL LIMITS (NOT ON NH) BETWEEN KM STONE 156 AND 158 ON NH-52, ON RHS WHILE	BHIWANI	Regular Regular	100 200	OPEN OPEN	DC DC	20 35	20 35	400 1225	32 32	55 95	Draw of Lots Draw of Lots	15 15	5
	MOVING FROM HISAR TO RAJGARH BETWEEN KM STONE 193 AND 196 ON NH-334B, ON LHS WHILE	CHARKHI DADRI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
383	MOVING FROM CHAKRHI DADRI TOWARDS LOHARU WITHIN 5 KM FROM LOHARU BUS STAND TOWARDS BHIWANI	BHIWANI	Regular	200	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
384	ON NH-709E BETWEEN KM STONE 137 AND 139 ON NH-709E, ON LHS WHILE	BHIWANI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
385	MOVING FROM BHIWANI TO LOHARU WITHIN 2 KM FROM JAAT BHAWAN, GAINDAWAS TOWARDS RAJGARH ON NH-52, ON LHS WHILE MOVING FROM HISAR TO	BHIWANI	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
386	RAJGARH WITHIN 6 KM OF RAJIKIYA VARISHTHA MADHYAMIK	CHARKHI DADRI	Regular	200	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	VIDYALAYA, SAMASPUR ON NH-334B BHIWANI WITHIN MUNICIPAL LIMITS (ON NH-709E / NH-148B)	BHIWANI	Regular	200	sc	CFS	30	30	900	0	0	Draw of Lots	0	3
	ON BHIWANI BYPASS CONNECTING NH-148B (BHIWANI TO KITLANA ROAD) AND NH-709E (BHIWANI TO LOHARU ROAD) ON RHS WHILE MOVING FROM BAMLA TOWARDS DEVSAR	BHIWANI	Regular	190	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
389	WITHIN 6 KM FROM TIGRANA MOD TOWARDS JIND ON NH- 709A	BHIWANI	Regular	150	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
390	BETWEEN KM STONE 127 AND 135 ON NH-148B (NEW BHIWANI BYPASS)	BHIWANI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
391	BETWEEN KM STONE 101 AND 106 ON NH-709E , ON LHS WHILE MOVING FROM ROHTAK TOWARDS BHIWANI WITHIN 2 KM FROM DIMAN HOTEL AND RESTAURANT	BHIWANI	Regular	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3.
392	WITHIN 2 KM FROM DIWAN HOTEL AND RESTAURANT TOWARDS HISAR ON NH-9	BHIWANI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
393	CHARKHI DADRI WITHIN MUNICIPAL LIMITS (NOT ON NH) BETWEEN VILLAGE - NANGTHALA AND MIRPUR (INCLUDING	CHARKHI DADRI	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
394	BOTH VILLAGES) ON BARWALA-AGROHA ROAD	HISAR	Regular	110	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	M.)/	Minimum imension (in Area of the in Sq. M.).	site	be an by app	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
1	2	3	Regular / Rural	MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	8 Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
395 396	BHIWANI WITHIN MUNICIPAL LIMITS (NOT ON NH) BARWALA WITHIN MUNICIPAL LIMITS (NOT ON NH)	BHIWANI HISAR	Regular Regular	150 170	OPEN SC	DC CFS	20 20	20	400 400	32 0	55 0	Draw of Lots Draw of Lots	15 0	5
397	WITHIN 4 KM FROM CHAUDHARY RESORT TOWARDS HISAR ON RAJGARH ROAD	HISAR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
	HANSI WITHIN MUNICIPAL LIMITS (NOT ON NH) HISAR WITHIN MUNICIPAL LIMITS (BETWEEN CAMP CHOWK		Regular	150	OBC	DC	20	20	400	32	55	Draw of Lots	15	4
399	AND SOUTHERN BYPASS ROAD) BETWEEN KM STONE 56 AND 60 ON NH-52 ON LHS WHILE	HISAR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
400	MOVING FROM NARWANA TOWARDS HISAR BETWEEN KM STONE 92 AND 96 ON NH-52 ON LHS WHILE	HISAR	Regular	180	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
401	MOVING FROM NARWANA TO RAIGARH WITHIN 6 KM FROM MG CLUB AND RESORTS TOWARDS	HISAR	Regular	150	OBC PH	DC	35	35	1225	32	95	Draw of Lots	15	4
402	ROHTAK ON NH-9	HISAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
403	WITHIN 2 KM FROM MG (MORRIS GARAGES) HISAR ON LHS WHILE MOVING FROM SARSOD TOWARDS HISAR ON NH-52	HISAR	Regular	200	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
404	VILLAGE - KHERI GANGAN ON HANSI - JIND ROAD	HISAR	Regular	100	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
405	WITHIN 5 KM FROM AMBIKA COLLEGE OF EDUCATION BARWALA TOWARDS SUREWALA CHOWK ON NH-52	HISAR	Regular	180	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
406	BETWEEN KM STONE 127 AND 130 ON NH-52 ON LHS WHILE MOVING FROM SIWANI TOWARDS NARWANA	HISAR	Regular	170	OPEN	СС	35	35	1225	32	12	Bidding	30	5
407	WITHIN 2 KM FROM AADHAR HOSPITAL TOWARDS DELHI, ON SOUTHERN PERIPHERAL BYPASS ROAD	HISAR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
408	WITHIN 8 KM FROM DCCD FOODS TOWARDS ROHTAK ON NH-9	HISAR	Regular	180	OBC	сс	35	35	1225	32	12	Bidding	30	4
409	BETWEEN KM STONE 36 AND 41 ON NH-9 ON RHS WHILE MOVING FROM DABWALI TO SIRSA	SIRSA	Regular	160	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
410	WITHIN 4 KM FROM THE E5 SCHOOL TOWARDS HISAR ON NH-9 ON RHS WHILE MOVING FROM ROHTAK TO HISAR	HISAR	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
411	HANSI WITHIN MUNICIPAL LIMITS (FROM RADHA SWAMI SATSANG HANSI TOWARDS HISAR CHUNGI)	HISAR	Regular	160	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
412	HISAR WITHIN MUNICIPAL LIMITS (BETWEEN ITI CHOWK TO	LUCAD	D lau	200	OPEN	DC	20	20	400	32		Daniel of Late	15	5
412	AADHAR HOSPITAL ON LHS WHILE MOVING FROM ITI CHOWK TOWARDS TOSHAM)	HISAR	Regular	200	UPEN	DC	20	20	400	32	55	Draw of Lots	15	
413	BETWEEN KM STONE 118 AND 121 ON NH-52 ON LHS WHILE MOVING FROM NARWANA TO RAJGARH	HISAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
414	WITHIN 4 KM FROM SADEWALA BUS STAND TOWARDS DABWALI ON SH-32 ON RHS WHILE MOVING FROM JEEWAN	SIRSA	Regular	110	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
	NAGAR TO DABWALI HISAR WITHIN MUNICIPAL LIMITS (NOT ON NH)	HISAR	Regular	180	OPEN CC 1	DC	20	20	400	32	55	Draw of Lots	15	5
	VILLAGE - DABWALI ON SH-32	SIRSA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of Lots	15	4
417	WITHIN 3 KM FROM JIND CHOWK HANSI ON HANSI JIND ROAD LOHARU WITHIN MUNICIPAL LIMITS (NOT ON NH)	HISAR BHIWANI	Regular Regular	100 120	OPEN SC	DC CFS	35 20	35 20	1225 400	32 0	75 0	Draw of Lots Draw of Lots	15 0	5
	HISAR WITHIN MUNICIPAL LIMITS (BETWEEN DABRA CHOWK													
419	AND ITI CHOWK ON RHS WHILE MOVING FROM DABRA CHOWK TO ITI CHOWK)	HISAR	Regular	150	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
421	VILLAGE - CHAK ARAIYAN ON SH-32 SIRSA WITHIN MUNICIPAL LIMITS (ON HUDA ROAD BETWEEN MAHARANA PRATAP CHOWK AND KISAN CHOWK)	SIRSA	Regular	140	OBC	DC DC	35 20	35 20	1225 400	32	75 55	Draw of Lots Draw of Lots	15 15	5
422	ELLENABAD WITHIN MUNICIPAL LIMITS (FROM TAU DEVILAL CHOWK ON HANUMANGARH ROAD)	SIRSA	Regular	140	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
423	BETWEEN KM STONE 37 AND 52 ON NH-52 (NARWANA - HISAR ROAD)	JIND	Regular	150	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	3
424 425	BETWEEN KM STONE 122 AND 132 ON NH-9 RANIA WITHIN MUNICIPAL LIMITS	FATEHABAD SIRSA	Regular Regular	150 120	OBC CC 1 OPEN	DC DC	35 20	35 20	1225 400	32 32	95 55	Draw of Lots Draw of Lots	15 15	4
426	BETWEEN KM STONE 150 AND 152 ON NH-52 ON RHS WHILE	BHIWANI	Regular	200	OPEN PH	DC	35	35	1225	32	95	Draw of Lots	15	5
427	MOVING FROM HISAR TOWARDS RAJGARH VILLAGE - HASSAN ON SH-19	BHIWANI	Regular	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
428	WITHIN 4 KM FROM INTERSECTION OF NH-9 AND NH-703 ON NH-703 TOWARDS SARDULGARG	SIRSA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
429	BETWEEN KM STONE 105 AND 110 ON NH-9 ON RHS WHILE MOVING FROM SIRSA TO HISAR	SIRSA	Regular	150	OPEN	cc	35	35	1225	32	12	Bidding	30	5
430	BETWEEN KM STONE 75 AND 80 ON LHS ON NH-9 WHILE MOVING FROM DABWALI TO SIRSA	SIRSA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
	UKLANA WITHIN MUNICIPAL LIMITS ON SH-2 BETWEEN KM STONE 54 AND 58 ON NH-9 ON LHS WHILE		Regular	150	SC	CFS	30	30	900	0	0	Draw of Lots	0	3
432	MOVING FROM DABWALI TO SIRSA BETWEEN KM STONE 309 AND 313 ON NH-352 ON LHS WHILE	SIRSA	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
433	MOVING FROM JIND TO ROHTAK VILLAGE - ELLENABAD (FROM VALMIKI CHAUK TOWARDS TIBBI	JIND	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
434	ON ELLENABAD-TIBBI ROAD) VILLAGE - NANAKPUR ON SH-32	SIRSA	Regular Regular	110	OPEN OBC	DC DC	35 35	35 35	1225 1225	32 32	75 75	Draw of Lots Draw of Lots	15 15	5
436	ON HANSI BYPASS ON NH-9 BETWEEN KM STONE 97 AND 102 ON NH-9 ON LHS WHILE	HISAR	Regular	180	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
437	MOVING FROM SIRSA TO HISAR	SIRSA	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
438	BETWEEN ST. XAVIER HIGH SCHOOL, RANIA AND BHAGAT PUBLIC SCHOOL, SANT NAGAR ON SH-32	SIRSA	Regular	100	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
439	BETWEEN KM STONE 36 AND 41 ON NH-9 ON LHS WHILE MOVING FROM DABWALI TO SIRSA	SIRSA	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
440 441	VILLAGE - BHAMBHOOR ON SH-32 SIRSA WITHIN MUNICIPAL LIMITS (ON JAGDAMBA PAPER MILL	SIRSA	Regular Regular	120 120	SC OPEN	CFS DC	35 20	35 20	1225 400	32	0 55	Draw of Lots Draw of Lots	15	3 5
442	ROAD CONNECTING BEGU ROAD TO RANGRI ROAD) BETWEEN KM STONE 325 AND 327 ON NH-352 ON LHS WHILE	JIND		150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	4
	MOVING FROM JIND TO ROHTAK VILLAGE - BIJUWALI ON SH-32		Regular Regular	150	OPEN	DC	35	35	1225	32	95 75	Draw of Lots Draw of Lots	15	5
444	VILLAGE - SHERGARH ON DABWALI-CHAUTALA ROAD BETWEEN KM STONE 80 AND 85 ON NH-9	SIRSA SIRSA	Regular Regular	150 170	OPEN SC	DC CFS	35 35	35 35	1225 1225	32 0	95 0	Draw of Lots Draw of Lots	15 0	5
446	BETWEEN KM STONE 30 AND 33 ON MIPS BETWEEN KM STONE 118 AND 122 ON NH-9 ON RHS WHILE MOVING FROM FATEHABAD TO SIRSA	FATEHABAD	Regular	150	OBC	CC	35	35	1225	32	12	Bidding	30	4
447	BETWEEN KM STONE 38 AND 40 ON NH-52 ON RHS WHILE MOVING FROM NARWANA TO SUREWALA CHOWK	JIND	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
448	WITHIN 10 KM OF RAJAJI DABHA ON NH-352 INCLUDING VILLAGE KAIR KHEDI (ON NH-352)	JIND	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
449 450	VILLAGE - ABHOLI ON SH-32 VILLAGE - AHRWAN ON SH-21 FATEHABAD - RATIA ROAD	SIRSA FATEHABAD	Regular Regular	100 120	SC OBC	CFS DC	35 35	35 35	1225 1225	0 32	0 75	Draw of Lots Draw of Lots	0 15	3
451	FATEHABAD WITHIN MUNICIPAL LIMITS (FROM AMBEDKAR CHOWK TOWARDS BHATTU ON SH-21)	FATEHABAD	Regular	150	OPEN	DC	30	30	900	32	75	Draw of Lots	15	5
452	BETWEEN KM STONE 77 AND 79 ON SH-21 ON LHS WHILE	FATEHABAD	Regular	115	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
453	MOVING FROM FATEHABAD TO BHATTU MANDI VILLAGE - KHANDHA KHERI ON NH-709A	HISAR	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
454 455	VILLAGE - RAMSARA ON SH-21 VILLAGE - PAULI ON NH-352 ON LHS WHILE MOVING FROM	JIND	Regular Regular	120 200	SC OPEN	CFS DC	35 35	35 35	1225 1225	32	95	Draw of Lots Draw of Lots	0 15	3 5
	JIND TO ROHTAK BETWEEN KM STONE 46 AND 51 ON NH-52 ON RHS WHILE		bulai	200	JF EN	DC			2443	32	33	DIGW OF LOUS	1.7	
456	DE I VYEETA VINI 3 LOINE 40 WIND 31 OIN MH-25 OIN KH2 WHILE	JIND	Regular	150	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	Di M.)//	Minimum imension (i Area of the in Sq. M.). *	site	be arr by	ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
			Regular / Rural	MS+HSD in KIs	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1 OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
458	BETWEEN KM STONE 40 AND 46 ON SH-2 BETWEEN KM STONE 313 AND 323 ON NH-352 ON RHS WHILE MOVING FROM JIND TO ROHTAK	JIND JIND	Regular Regular	110 170	OBC SC	DC CFS	35 35	35 35	1225 1225	32 0	75 0	Draw of Lots Draw of Lots	15 0	3
459 460	BETWEEN KM STONE 25 AND 27 ON NH-152 JIND WITHIN MUNICIPAL LIMITS (BETWEEN SHRI MAHAVEER JAIN GIRLS SENIOR SECONDARY SCHOOL AND NANDISHALA	JIND	Regular Regular	170	OPEN	DC DC	35 20	35 20	1225 400	32	95 55	Draw of Lots Draw of Lots	15 15	5
461	SEVA SAMITI) BETWEEN KM STONE 152 AND 155 ON NH-9 ON LHS WHILE MOVING FROM FATEHABAD TO HISAR	FATEHABAD	Regular	150	OBC	СС	35	35	1225	32	12	Bidding	30	4
462 463	HISAR WITHIN MUNICIPAL LIMITS (NOT ON NH) VILLAGE - RAJPURA ON SH-12	JIND	Regular Regular	200 120	OPEN SC	DC CFS	20 35	20 35	400 1225	32 0	55 0	Draw of Lots Draw of Lots	15 0	5
464 465	SAFIDON WITHIN MUNICIPAL LIMITS	JIND	Regular	150	OBC	DC	30	30	900	32	55	Draw of Lots	15	4
465 466	BETWEEN KM STONE 243 AND 249 ON NH-52 JIND WITHIN MUNICIPAL LIMITS (NOT ON NH)	JIND	Regular Regular	150 200	OPEN CC 1 OPEN	CC DC	35 20	35 20	1225 400	32 32	12 55	Bidding Draw of Lots	30 15	5
467	BETWEEN KM STONE 20 AND 27 ON NH-352A WITHIN 6 KM FROM BADHRA CHOWK TOWARDS LOHARU ON	JIND	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
468 469	NH-334B	CHARKHI DADRI	Regular	150	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
469	SIRSA WITHIN MUNICIPAL LIMITS (NOT ON NH) FATEHABAD WITHIN MUNICIPAL LIMITS (NOT ON NH)	SIRSA FATEHABAD	Regular Regular	160 150	OPEN OPEN	DC DC	20 20	20 20	400 400	32 32	55 55	Draw of Lots Draw of Lots	15 15	5 5
471	BETWEEN KM STONE 152 AND 154 ON NH-9 ON RHS WHILE MOVING FROM FATEHABAD TO HISAR	FATEHABAD	Regular	180	sc	CFS	35	35	1225	0	0	Draw of Lots	0	3
472	BETWEEN KM STONE 106 AND 113 ON NH-709E , ON LHS	BHIWANI	Regular	180	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
473	WHILE MOVING FROM ROHTAK TOWARDS BHIWANI WITHIN 2 KM FROM NEW BUS STAND FATEHABAD TOWARDS	FATEHABAD	Regular	150	OPEN	DC	35	35	1225	32	55	Draw of Lots	15	5
	HISAR ON FATEHABAD-HISAR ROAD WITHIN 2 KM FROM GOVERNMENT SENIOR SECONDRY SCHOOL DEEGHOT, TOWARDS BAMNIKHEDA ON BAMNIKHEDA		Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots Draw of Lots	5	4
475	HASSANPUR ROAD WITHIN 2 KMS FROM OM PUBLIC SCHOOL, RASULPUR , ON	PALWAL	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
476	HASSANPUR PALWAL ROAD WITHIN 2 KMS FROM SENIOR SECONDRY SCHOOL AMARPUR,	PALWAL	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
	ON EITHER PALWAL ROAD OR MOHNA ROAD WITHIN 1 KMS FROM CROSSING OF EASTERN PERIPHERAL EXPRESSWAY AND ATALI ROAD, TOWARDS ATALI, RHS, ON	FARIDABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
478	ATALI ROAD WITHIN 2 KMS FROM INTERSECTION OF MOHNA ROAD AND ATALI ROAD, TOWARDS DAYALPUR, DIST FARIDABAD	FARIDABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
479	VILLAGE - PANHERA KHURD, ON BALLABHGARH MOHNA ROAD	FARIDABAD	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
480	WITHIN 2 KM FROM BS2 TOLL PLAZA, PAWTA , ON	FARIDABAD	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
481	BALLABHGARH SOHNA ROAD (MDR 133) VILLAGE - FIROZPUR RAJPUT ,ON PALWAL- HATHIN ROAD	PALWAL	Rural	70	OPEN	СС	35	35	1225	16	6	Bidding	10	4
482	WITHIN 7 KMS FROM INTERSECTION OF NH19 WITH HODAL	PALWAL	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
483	KHAMBI ROAD, TOWARDS KHAMBI ON HODAL KHAMBI ROAD WITHIN 6 KM FROM PALWAL MINI SECRATRIAT , TOWARDS GAHLAB .ON GAHLAB ROAD	PALWAL	Rural	70	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
484	FROM MANGAR POLICE POST TO GURGAON FARIDABAD TOLL PLAZA, FARIDABAD GURGAON ROAD.RHS	FARIDABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
485 486	VILLAGE - HIRAPUR, ON MOHNA BALLABHGARH ROAD WITHIN 2 KMS FROM CROSSING OF EASTERN PERIPHERAL EXPRESSWAY AND ATALI ROAD, TOWARDS CHHAINSA ON	FARIDABAD FARIDABAD	Rural Rural	70	SC	CFS DC	35 35	35 35	1225 1225	0	0	Draw of Lots Draw of Lots	0	2
487	BALLABHGARH MOHNA ROAD WITHIN 5 KMS FROM GURGAON - FARIDABAD TOLL PLAZA,	FARIDABAD	Rural	70	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
488	TOWARDS FARIDABAD, ON GURGAON FARIDABAD ROAD, RHS WITHIN 2 KMS FROM INDIAN PUBLIC SCHOOL, MALAI TOWARDS LITTAWAR ON NI II HODAL ROAD (MDR 132)	PALWAL	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	,TOWARDS UTTAWAR ,ON NUH HODAL ROAD (MDR 132) WITHIN 2 KMS FROM JATOLI MOD (INTERSECTION OF	PALWAL	Rural	70	sc	CFS	35	35	1225	0	0		0	2
489	HASANPUR PALWAL AND HODAL HASANPUR ROADS) TOWARDS JATOLI ON PALWAL HASANPUR ROAD WITHIN 3 KMS FROM GOVT SENIOR SECONDRY SCHOOL	FARIDABAD	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots Draw of Lots	5	3
491	JASANA, ON FARIDABAD - MANJHAWALI ROAD VILLAGE - BORAKA, ON HODAL PUNHANA ROAD (MDR 131)	PALWAL	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
	WITHIN 2 KMS ON THE EITHER SIDE OF SIKRI DHAUJ ROAD,FROM CROSSING OF FARIDABAD BYPASS ROAD AND	FARIDABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
493	SIKRI DHAUJ ROAD . VILLAGE - MANDKAUL, ON FATEHPUR BILLOCH - DEVLI ROAD	PALWAL	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
494 495	VILLAGE - TONKA, ON MDR-135 VILLAGE - SADPURA ,ON TIGAON ROAD, FARIDABAD	PALWAL FARIDABAD	Rural Rural	70 70	OBC OPEN	DC CC	35 35	35 35	1225 1225	16 16	35 6	Draw of Lots Bidding	5 10	3
496 497	VILLAGE - SHAHJAHANPUR , ON FATEHPUR ATTA ROAD	FARIDABAD	Rural	70	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
	ON FARUKHNAGAR BYPASS TOWARDS JHAJJAR LHS BETWEEN INTERSECTION OF NANDRAMPUR BASS ROAD WITH NH919 UPTO RAJASTHAN BORDER, ON NANDRAMPUR BASS ROAD	REWARI	Rural	70	OBC CC 1	CFS	35 35	35	1225	16 0	0	Bidding Draw of Lots	0	2
499	ROAD BETWEEN INTERSECTION OF KAPRIWAS AKERA BHIWADI ROAD WITH NH48 AND WITH RAJASTHAN BORDER ,ON KAPRIWAS AKERA BHIWADI ROAD	REWARI	Rural	70	OPEN	сс	35	35	1225	16	6	Bidding	10	4
500	AKERA BHIWADI KOAD WITHIN 3 KMS FROM AMBEDKAR CHOWK, ON ROAD CONNECTING AMBEDKAR CHOWK (FIROZPUR JHIRKA) TO DELHI MUMBAI EXPRESSWAY	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
501	VILLAGE - BHOGIPUR, ON ROAD CONNECTING KHERI (RAJASTHAN BORDER) TO BHOGIPUR	NUH	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
502	VILLAGE - NOTAKI, ON ROAD CONNECTING NAGINA TO RAJASTHAN BORDER	NUH	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
503	WITHIN 3 KMS FROM DELHI MUMBAI EXPRESSWAY, ON ROAD CONNECTING AMBEDKAR CHOWK (FIROZPUR JHIRKA) TO DELHI MUMBAI EXPRESSWAY	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
504	WITHIN 3 KMS FROM DELHI MUMBAI EXPRESSWAY CROSSING TOWARDS BIWAN, ON FIROZPUR JHIRKA PAHARI ROAD	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
505	ON ROAD CONNECTING VILLAGE MADAPUR TO VILLAGE ALIPUR TIGRA INCLUDING VILLAGE MADAPUR & ALIPUR TIGRA	NUH	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
	VILLAGE - TAJPUR, ON MDR-132, NUH-HODAL ROAD VILLAGE- RANGALA , BLOCK-TAURU, DISTRICT-NUH	NUH NUH	Rural Rural	70 70	OPEN SC	DC CFS	35 35	35 35	1225 1225	16 0	35 0	Draw of Lots Draw of Lots	5	4 2
508	VILLAGE - MUBARAKPUR ON FARUKHNAGAR MUNDAKHERA ROAD	GURUGRAM	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
509	VILLAGE - PEMA KHERA, ON HODAL-PUNHANA ROAD	NUH	Rural	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
510	VILLAGE - MAHUM, ON ROAD CONNECTING VILLAGE - SAKRAS TO VILLAGE - PUNHANA	NUH	Rural	70	OPEN CC 1	DC	35	35	1225	16	35	Draw of Lots	5	4
511	VILLAGE - GULALTA, ON ROAD CONNECTING SHIKRAWA TO PUNHANA	NUH	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
512	VILLAGE BHOORIYAKI, ON MDR-131, PINANGWAN TO PUNHANA ROAD	NUH	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
L	PUNDANA KUAU	1		l								1		

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales	Category	Type of Site *	Di M.)//	Minimum imension (in Area of the	site	be arr	nce to ranged the	Mode of Selection	Fixed Fee / Minimum Bid	Security Deposit
1	2	3	4	Potential #	6 SC SC CC-1 SC PH	7	,	n Sq. M.). * 8		аррі 9а	9b Estimated	10	amount 11	12
			Regular / Rural	MS+HSD in Kls	ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-1	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	fund required for development of infrastructure at RO	Draw of Lots / Bidding		
513	WITHIN 3 KMS FROM NH 248A,ON TIJARA - FIROZEPUR JHIRKA	NUH	Rural	70	OPEN CC-2 OPEN PH	DC	35	35	1225	16	35	Draw of Lots	5	4
514	ROAD 3 KMS EITHER SIDES FROM DELHI MUMBAI EXPRESSWAY	NUH	Rural	70	OPEN	СС	35	35	1225	16	6	Bidding	10	4
	CROSSING ON MDR-132, NUH TO HODAL ROAD 5 KMS FROM SOHNA-ALWAR ROAD (NH-248A) ,TOWARDS													
515 516	DELHI MUMBAI EXPRESSWAY(DME). ON MDR 135 VILLAGE - SHIKRAWA, ON ROAD CONNECTING SHIKRAWA TO	NUH	Rural	70	OBC	DC CFS	35	35	1225	0	35	Draw of Lots Draw of Lots	5	2
517	PUNHANA VIA GULALTA VILLAGE - PHALANDI, ON PINANGWAN TO PUNHANA ROAD	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
518	(MDR-131) ON MDR 134 (NUH-PALWAL ROAD), WITHIN 6 KMS FROM	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
519	DELHI MUMBAI EXPRESSWAY(DME) TOWARDS NUH VILLAGE BISRU. ON ROAD CONNECTING KOT TO PUNHANA	NUH	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
313		Non	Kurai	70	OBC	DC	33	33	1223	10	33	Diaw of Lots	,	3
520	WITHIN 3 KMS FROM BADAKLI CHOWK (NH-248A INTERSECTION), ON MDR-131, BADAKLI TO PINANGWAN ROAD	NUH	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
521	VILLAGE - GWARKA, TAURU TO NUH ROAD(MDR-132) ON ROAD CONNECTING H.B.M SCHOOL PUNHANA ROAD	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
522 523	HATHANGAON TO RAJASTHAN BORDER VILLAGE - ATTA, ON SOHNA-MANDKOLA ROAD	NUH	Rural	70 70	OPEN OBC PH	DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	3
524	VILLAGE - MUNDAKA, BLOCK FIROZPUR JHIRKA	NUH	Rural	70	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
525	VILLAGE - LUHINGA KALAN, ON PUNHANA - LUHINGA ROAD FROM VILLAGE - RANYALA FEROZEPUR TO VILLAGE BAI KHERA	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
526	INCLUDING VILLAGE RANYALA FEROZEPUR & VILLAGE BAI KHERA ,ON RANYALA FEROZEPUR-BAI KHERA ROAD.	NUH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
527	VILLAGE - KALINJAR, ON MDR-132 (NUH HODAL ROAD) FROM VILLAGE-PULHAWAS TO VILLAGE GARHI BAZIDPUR INCLUDING VILLAGE-PULHAWAS & VILLAGE-GARHI BAZIDPUR,ON PERMIT LINE ROAD	GURUGRAM	Rural	70	OBC	DC DC	35	35	1225	16 16	35 35	Draw of lots Draw of Lots	5	4
529	FROM NH-11 UPTO RAJASTHAN BORDER ON KUND-BEHROR ROAD	REWARI	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
530	VILLAGE - SUBASHERI ,ON ROAD CONNECTING SUBASHERI AND KHANPUR AHIR	REWARI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
531	WITHIN 2 KM FROM KASOLA CHOWK TOWARDS REWARI CITY	REWARI	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
532	,ON GARHI - BOLNI ROAD VILLAGE - MUKANDPURA, ON ROAD CONNECTING NH148B TO	MAHENDRAGARH	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
533	NIZAMPUR ON LHS VILLAGE - KESHOPUR ON KESHOPUR - ANANDPUR ROAD	REWARI	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
534	VILLAGE - MORUND , ON NANGAL CHAUDHARY - BEHROR ROAD	MAHENDRAGARH	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
535 536	VILLAGE BAS ON SATNALI - DHANA ROAD VILL JHABUWA, ON BAWAL ROAD	REWARI REWARI	Rural Rural	70 70	OPEN CC 1	DC CC	35 35	35 35	1225 1225	16 16	35 6	Draw of Lots Bidding	5 10	4
537	VILLAGE - PRANPURA, ON ROAD CONNECTING MUNDI TO NH- 11	REWARI	Rural	70	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
538														
	VILLAGE - NAICHANA , ON ROAD CONNECTING NAICHANA AND SULKHA VILLAGE.	REWARI	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
539		REWARI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
539 540	SULKHA VILLAGE. VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR: KHETRI ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS	REWARI MAHENDRAGARH	Rural Rural	70 70	OPEN OPEN	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of lots	5	4
539 540 541	SULKHA VILLAGE. VILLAGE - GARHI , ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR-KHETRI ROAD	REWARI MAHENDRAGARH MAHENDRAGARH	Rural Rural Rural	70 70 70	OPEN OPEN OBC	DC DC CC	35 35 35	35 35 35	1225 1225 1225	16 16 16	35 35 6	Draw of Lots Draw of lots Bidding	5 5 10	4 4 3
539 540	SUIKHA VILLAGE: VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAIASTHAN BORDER ON NIZAMPUR - KHETRI ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD	REWARI MAHENDRAGARH	Rural Rural	70 70	OPEN OPEN	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of lots	5	4
539 540 541 542	SUIKHA VILLAGE. VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR-KHETRI ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHABLI ROAD, MDR 130 IN KM FROM GURGAON- JHAJJAR BORDER, ON MDR 136 (GURGAON-BADLI-BAHADURAGARH ROAD) TOWARDS BADLI,	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH	Rural Rural Rural	70 70 70 70	OPEN OPEN OBC SC	DC DC CC CFS	35 35 35 35	35 35 35 35	1225 1225 1225 1225	16 16 16	35 35 6	Draw of Lots Draw of lots Bidding Draw of Lots	5 5 10	4 4 3 2
539 540 541 542 543	SULKHA VILLAGE: VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAIASTHAN BORDER ON NIZAMPUR. KHETIR ROAD NIZAMPUR. KHETIR ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM ETHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHABLI ROAD, MOR 130 10 KM FROM GURGAON-JHAJJAR BORDER, ON MOR 136 (REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR	Rural Rural Rural Rural Rural	70 70 70 70 70	OPEN OPEN OBC SC OPEN	DC DC CC CFS DC	35 35 35 35 35	35 35 35 35 35	1225 1225 1225 1225 1225	16 16 16 0	35 35 6 0	Draw of Lots Draw of lots Bidding Draw of Lots Draw of Lots	5 5 10 0	4 4 3 2 4
539 540 541 542 543	SUIKHA VILLAGE. VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR. KHETRI ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD Z KM ETHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MDR 136 GURGAON-BADLI-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NH09 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHARAB BERI ROAD WITHIN S KMS FROM NH09 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHARAB BERI ROAD	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR	Rural Rural Rural Rural Rural Rural	70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN	DC DC CC CFS DC	35 35 35 35 35 35	35 35 35 35 35 35	1225 1225 1225 1225 1225 1225	16 16 16 0 16	35 35 6 0 35	Draw of Lots Draw of lots Bidding Draw of Lots Draw of Lots Draw of Lots	5 5 10 0 5	4 4 3 2 4
539 540 541 542 543 544	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAIASTHAN BORDER ON NIZAMPUR KHETIR ROAD ILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM ETHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHABLI ROAD, MDR 130 10 KM FROM GURGAON-JHAJJAR BORDER, ON MDR 136 (GURGAON-BADLI-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NH09 (DELHI ROHTAK ROAD) CROSSING OM MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MR 136 AND MDR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF MR 136 AND MDR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF NH 09 AND MDR	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR	Rural Rural Rural Rural Rural Rural Rural Rural Rural	70 70 70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN OPEN	DC DC CC CFS DC DC	35 35 35 35 35 35 35 35	35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225	16 16 16 0 16 16 16	35 35 6 0 35 35	Draw of Lots Draw of Lots Bidding Draw of Lots	5 5 10 0 5 5	4 4 3 2 4 4 4
539 540 541 542 543 544 544 545	SULKHA VILLAGE: VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAIASTHAN BORDER ON NIZAMPUR. KHETIR ROAD NIZAMPUR. KHETIR ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM ETHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHABLI ROAD, MOR 130 10 KM FROM GURGAON-JHAJJAR BORDER, ON MOR 136 GURGAON-BADL-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MDR 136 AND MDR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) TOWARDS HAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) TOWARDS SADLI, ON MOR-136 WITHIN 10 KMS FROM INTERSECTION OF HO 99 AND MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN 10 KMS FROM TRENSECTION OF NH 334B AND MOR 130 (KAR CHUCHHAKWAS POLICE STATION) ON	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR	Rural Rural Rural Rural Rural Rural Rural	70 70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN	DC DC CC CFS DC DC DC	35 35 35 35 35 35 35	35 35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225	16 16 16 0 16 16	35 35 6 0 35 35 35	Draw of Lots Draw of lots Bidding Draw of Lots	5 5 10 0 5 5	4 4 3 4 4 3 3
539 540 541 542 543 544 545 546	SULKHA VILLAGE: NULLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD NIZAMPUR - KHETIR ROAD NILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NAWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NAWORL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD SEM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MOR 130 10 KM FROM GURGAON - IHAIJAR BORDER, ON MOR 136 (GURGAON-BADLI-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MOR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MOR 136 AND MOR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MOR 123) WITHIN 1 KM FROM INTERSECTION OF NH 09 AND MOR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MOR 123) WITHIN 10 KMS FROM THE INTERSECTION OF NH 3348 AND MOR 130 (MEAR CHHUCHARWAS POLICE STATION) ON CHHUCHHARWAY - JHAJJAR ROAD VIA GWALISON 1 KMS ETTHER SIDE O' THAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MOR 122, BAHABAR BEER INCLUDING VILLAGE CHHARA, OR MOR 122, BAHABAR BEER INCLUDING VILLAGE CHHARA, OR MOR 122, BAHABAR BACRAGRAH - CHHARA - BEER I	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR	Rural	70 70 70 70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN SC CC 1	DC DC CC CFS DC DC DC CFS CFS	35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 0 16 16 16 16 16 0 0 0 0 0 0 0	35 35 6 0 35 35 35 35	Draw of Lots Draw of Lots Bidding Draw of Lots	5 5 10 0 5 5 5 5 0 0	4 4 4 3 2 2
539 540 541 542 543 544 545 546 547	SULKHA VILLAGE: VILLAGE - GARHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAIASTHAN BORDER ON NIZAMPUR KHETIR ROAD NIZAMPUR KHETIR ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM ETHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHABLI ROAD, MDR 130 10 KM FROM GURGAON-JHAJJAR BORDER, ON MDR 136 (GURGAON-BADL-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MDR 136 AND MDR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF NOR 136 AND MDR 136, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN 10 KM FROM INTERSECTION OF NOR 9AND MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN 10 KMS FROM THE INTERSECTION OF NH 39A BAD MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN 10 KMS FROM THE INTERSECTION OF NH 39A BAD MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN 10 KMS FROM THE INTERSECTION OF NH 39A BAD MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN 10 KMS FROM THE INTERSECTION OF NH 33BA AND MDR 130 (NEAR CHHUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS - JHAJJAR ROAD VIA GWALJSON LIKKS ETHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR	Rural	70 70 70 70 70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC DC CCFS DC DC CFS DC DC DC DC	35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225 1225	16 16 0 16 16 16 16 16 16 16 16 16	35 35 6 0 35 35 35 35 0	Draw of Lots Draw of Lots Bidding Draw of Lots	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 4 3 2
539 540 541 542 543 544 545 546 547 548	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD NIZAMPUR - KHETIR ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MOR 130 10 KM FROM GURGAON - JHAJIAR BORDER, ON MOR 136 (GURGAON-BADLI-BAHADURGARH ROAD) TOWARDS BADLI, RHS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MOR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MID 136 AND MID 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MOR 123) WITHIN S KMS FROM INTERSECTION OF NH 09 AND MID 133, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MOR 123) WITHIN 15 KMS FROM THE INTERSECTION OF NH 348 AND MOR 130 (NEAR CH-JUCHARWAS POLICE STATION) ON CHUCHHARAVA SHAJJAR ROAD AND GWALIAGE - CHHARA, ON MOR 122 BAHADURGARH - CHHARA - BERI ROAD. 1 KMS ETTHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MOR 122 BAHADURGARH - CHHARA - BERI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING WILLAGE SOLDHA SNO VILLAGE - MAJRI (INCLUDING WILLAGE SOLDHA SNO VILLAGE - MAJRI (INCLUDING WILLAGE SOLDHA NO VILLAGE - MAJRI (INCLUDING WILLAGE SOLDHA SNO VILLAGE - MAJRI (INC	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR	Rural	70 70 70 70 70 70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OBCCC1 SC CC1 OPEN PH OBC	DC DC CFS DC DC DC DC DC DC DC	35 35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 0 16 16 16 16 16 16 16 16 16 16 16	35 35 6 0 35 35 35 35 0 35	Draw of Lots Draw of Lots Bidding Draw of Lots	5 5 10 0 5 5 5 5 5	4 4 3 2 4 4 4 3 2 4
539 540 541 542 543 544 545 546 547 548 549	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD UILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NAWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NAWAGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD Z KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MOR 130 10 KM FROM GURGAON - IHAIJAR BORDER, ON MOR 136 (GURGAON-BADLI-BAHADURAGARH ROAD) TOWAROS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MOR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MOR 136 AND MOR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MOR 123) WITHIN 1 KM FROM INTERSECTION OF NH 09 AND MOR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MOR 123) WITHIN 10 KMS FROM THE INTERSECTION OF NH 3348 AND MOR 130 (MEAR CHHUCHARWAS POLICE STATION) ON CHHUCHHARWAY SHAJJAR ROAD UN GWALISON I KMS EITHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MOR 122, BAHADURGARH - CHHARA - BERI ROAD. BETWEEN NILLAGE - SOLDHA AND VILLAGE - MAJRI, ON MOR BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI, ON MOR BETWEEN NILLAGE - SOLDHA AND VILLAGE - MAJRI, ON MOR JE G BAHADURGARH - BOLL GURGAON ROAD) WITHIN 10 KMS FROM INDIRA GANDHI SUPER THERMAL POWER PLANT (LISTPP), TOWARDS CHHUCHHAKWAS, ON JHARLI CHHUCHHAKWAS FOOM JIMBR GOOD WITHIN 10 KMS FROM SIDERA GANDHI SUPER THERMAL POWER PLANT (LISTPP), TOWARDS CHHUCHHAKWAS, ON JHARLI CHHUCHHAKWAS KOAD JIMBR GOOD WITHIN 10 KMS FROM SIDERA GANDHI SUPER THERMAL POWER PLANT (LISTPP), TOWARDS CHHUCHHAKWAS, ON JHARLI CHHUCHHAKWAS KOAD JIMBR GARDHI SUPIC THERMAL POWER PLANT (LISTPP), TOWARDS CHHUCHHAKWAS, ON JHARLI CHHUCHHAKWAS KOAD JIMBR GARDHI SUPIC THERMAL POWER PLANT (LISTPP), TOWARDS CHHUCHHAKWAS, ON JHARLI CHHUCHHAKWAS KOAD JIMBR GARDHI SUPIC THERMAL	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR	Rural	70 70 70 70 70 70 70 70 70 70 70	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OBCCC1 SC CC 1 OPEN PH OBC OPEN	DC CC CFS DC DC DC DC DC DC DC DC DC D	35 35 35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 35 35 35 35 35	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 0 16 16 16 16 16 16 16 16 16 16	35 35 6 0 35 35 35 35 0 35 35	Draw of Lots	5 5 10 0 5 5 5 5 5 5	4 4 3 2 4 4 4 3 2 4 3
539 540 541 542 543 544 545 546 547 548 549 550 551	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR: KHETIR ROAD LILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MDR 130 10 KM FROM GURGAON-JHAJJAR BORDER, ON MDR 136 (GURGAON-BAOLI-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING OM MDR 122, BAHADURAGARH CHHARA BERIR ROAD WITHIN S KMS FROM INTERSECTION OF MND 136 AND MDR 133, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF NH 09 AND MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN S KM FROM INTERSECTION OF NH 93 AND MDR 136, TOWARDS BADLI ON MDR-136 NUTHIN S KM FROM THE INTERSECTION OF NH 348 AND MDR 130 (MEAR CHHUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS JHAJJAR ROAD WIA GWALJSON 1 KMS EITHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MDR 122, BAHADURGARH - CHHARA - BERI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING VILLAGE - CHHARA, INCLUDING VILLAGE - CHHARA LINGLING WILLAGE - MAJRI), ON MDR 136 (BAHADURGARH - BADLI - GURGAON ROAD) WITHIN 15 KMS FROM INTERSECTION OR BAJRI HAJBR, ON DANI 122, BAHADURGARH - CHHARA - BERI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING VILLAGE - SOLDHA AND VILLAGE - MAJRI), ON MDR 136 (BAHADURGARH - BADLI - GURGAON ROAD) WITHIN 15 KMS FROM INTERSECTION OR BAJRI HAJBAR ROAD ONY YAKUBERUR TO BADLI GURGAON ROAD) WITHIN 5 KMS FROM SHISA (FARUKHNAGAR JHAJIAR ROAD) ONY YAKUBERUR TO BADLI GURGAON ROAD) WITHIN S KMS FROM MTERSECTION OF GOHANA ROAD (NH352) AND LADHOT ROAD ON THE SCITTON OF GOHANA ROAD (NH352) AND LADHOT ROAD ON THE SCITTON OF GOHANA ROAD	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OBCCC1 SC CC1 OPEN PH OBC OPEN SC CC1	DC DC CFS DC DC DC DC DC DC CFS DC DC CFS DC DC DC DC DC DC DC DC DC	35 35 35 35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 0 16 16 16 16 16 16 16 0 16 0	35 35 6 0 35 35 35 35 0 35 35	Draw of Lots	5 5 10 0 5 5 5 5 5 5 0 5 5	4 4 3 2 4 4 3 2 4 3 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD UILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MOR 130 10 KM FROM GURGAON-JHAJJAR BORDER, ON MDR 136 (GURGAON-BADLI-BHADDURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELH ROHTAK ROAD) CROSSING ON MOD 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM MINERSECTION OF MID 136 AND MDR 133, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF NH 09 AND MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN S KMF FROM THE INTERSECTION OF NH 348 AND MOR 130 (MEAR CHHUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS JHAJJAR ROAD WIG WGWALSON I KMS EITHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MOR 122, BAHADURGARH - CHHARA - BERI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI, (INCLUDING VILLAGE - SOLDHA AND VILLAGE - MAJRI), ON MDR 136 (BAHADURGARH - BADLI - GURGAON ROAD) WITHIN 15 KMS FROM INTERSECTION OR MAJRI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI, (INCLUDING VILLAGE - SOLDHA AND VILLAGE - MAJRI), ON MDR 136 (BAHADURGARH - BADLI - GURGAON ROAD) WITHIN 15 KMS FROM INTERSECTION OR GONANA WITHIN 16 KMS FROM INTERSECTION OR GONANA WITHIN 18 KMS FROM INTERSECTION OR GONANA ROAD WITHIN 18 KMS FROM SHITAS (FARUKINAGAR HAJJAR ROAD) WITHIN 18 KMS FROM SHITAS (FARUK	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR ROHTAK	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN OBCCC1 SC CC1 OPEN PH OBC OPEN SC OPEN OPEN	DC CC CFS DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 0 35 35 0 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 3 2 4 3 4 2 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 556	SULKHA VILLAGE: NULLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR. KHETRI ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD ZKM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, NO CHHUCHHARKWAS TO JHARIL ROAD, MDR 130 10 KMF ROM GURGAON - JHAJJAR BORDER, ON MDR 136 (GURGAON-BADLI-BAHADURGARRH ROAD) TOWARDS BADLI, RHS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) (MDR 123) WITHIN S KMS FROM NITERSECTION OF MDR 136 AND MDR 123, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KMS FROM THE INTERSECTION OF NH 334B AND MDR 136, TOWARDS BADLI, ON MDR 136 WITHIN 10 KMS FROM THE INTERSECTION OF NH 334B AND MDR 130 (MBR ADDLION MDR 136) WITHIN 10 KMS FROM THE INTERSECTION OF NH 334B AND MDR 130 (MBR ADDLION MDR 136) WITHIN 10 KMS FROM THE INTERSECTION OF NH 334B AND MDR 130 (MBR ACHU-CHHARKWAS - JHAJJAR ROAD VIA GWALISON) 1 KMS FITHER SIDE OF VILLAGE - CHHARA, MRCLUDING VILLAGE CHHARA, OM THE LYBE CHHARA - BERI ROAD. WITHIN 10 KMS FROM THE INTERSECTION PER THERMAL POWER PLANT (GISTPP), TOWARDS CHHUCHHARWAS, ON JHABLI CHHUCHHARWAS ROAD (MDR 130) WITHIN 10 KMS FROM SHISA (FARUKHNAGAR HAJJAR ROAD) WITHIN 10 KMS FROM SHISA (FARUKHNAGAR HAJJA	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR ROHTAK	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OBC SC OPEN OPEN OPEN OPEN OPEN OPEN SC CC 1 OPEN PH OBC OPEN SC COPEN OPEN OPEN	DC DC CFS DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 0 35 35 0 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 10 0 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 4 3 2 4 4 3 2 4 3 4 4 3 4 4 4 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 556 557	SULKHA YILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR. KHETRI ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD ZEM ETHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARIL ROAD, MDR 130 10 KM FROM GURGAON - JHAJJAR BORDER, ON MDR 136 (GURGAON-BADL-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING WITHIN S KMS FROM INTERSECTION OF MDR 136 AND MDR 123, TOWARDS SHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF MDR 136 AND MDR 136, TOWARDS BADLI, ON MDR 130; CHAUGHARA NHO MDR 136 (MDR 130) WITHIN 10 KMS FROM THE INTERSECTION OF NH 334B AND MDR 136 (MDR 140) WITHIN 10 KMS FROM THE INTERSECTION OF NH 334B AND MDR 130 (MRA CHHUCHHAKWAS - JHAJJAR ROAD VIA GWAJISON) CHHUCHHAKWAS - JHAJJAR ROAD VIA GWAJISON LIMS ETHER SIDE OF VILLAGE - CHHARA, INCLIDING VILLAGE - CHHARA, ON MDR 122, BAHADURGARH - CHHARA - BERI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI, ON MDR 136 (BAHADURGARH HABOL) CHIGAGON ROAD) WITHIN 10 KMS FROM MINGRA GANDHI SUPER THERMAL POWER PLANT (GISTPP), TOWARGEON HALDON POWER PLANT (GISTPP), TOWA	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR JHAJJAR ROHTAK ROHTAK PANIPAT	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 35 35 35 35 35 35 35 35 36 37 37 38 38 38 38 38 38 38 38 38 38 38 38 38	Draw of Lots	5 5 5 10 0 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 4 4 4 3 2 4 4 2 4 3 4 4 4 4 4 4 4 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 556 557 558 559	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD UILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE 10 KM FROM GURGAON - JHAJJAR BORDER, ON MDR 130 10 KM FROM GURGAON - JHAJJAR BORDER, ON MDR 136 GURGAON- BOND - SHAJJAR BORDER, ON MDR 136 GURGAON- BADLI-BHADDURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM MINESECTION OF MDR 136 AND MDR 133, TOWARDS JHAJJAR, ON BADLI JHAJJAR ROAD (MDR 123) WITHIN S KM FROM INTERSECTION OF NH 09 AND MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN S KMF FROM THE INTERSECTION OF NH 348 AND MDR 130 (NEAR CHHUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS JHAJJAR ROAD JUK GWALJON 1 KMS EITHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MDR 122, BAHADURGARH - CHHARA - BERI ROAD. EETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI, (INCLUDING VILLAGE - SOLDHA AND VILLAGE - MAJRI), ON MDR 136 (BAHADURGARH - BADLI - GURGAON ROAD) WITHIN S KMS FROM INTERSECTION OF GOHANA ROAD WITHIN S KMS FROM MINES SCHUCHHAKWAS, ON JABAL CHHUCHHAKWAS ROAD (MDR 130) WITHIN S KMS FROM MINES SCHUCHHAKWAS, ON JABAL CHHUCHHAKWAS POLICE STRICT JHAJJAR ROAD WITHIN S KMS FROM INTERSECTION OF GOHANA ROAD WITHIN S KMS FROM MINERASECTION OF GOHANA ROAD WITHIN S KMS FROM MINERASECTION OF GOHANA ROAD WITHIN S KMS FROM MINERSECTION OF GOHANA ROAD WITHIN S KMS FROM MINERSECTION OF GOHANA ROAD WITHIN S KMS FROM SHISA (FROM SHIS) WITHIN S KMS FROM SHISA (FROM SHISA) WITHIN S KMS FROM SHISA ROAD W	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR SONIPAT SONIPAT SONIPAT	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 35 35 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 10 0 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 3 3 2 4 4 3 3 4 4 2 4 3 3 4 4 4 2 3 4 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 554 555 556 557 558 559 560	SULKHA VILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD RETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD VILLAGE - KANWARIAWAS , TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE 10 KM FROM GURGAON - JIHAJIAR BORDER, ON MDR 130 10 KM FROM GURGAON - JIHAJIAR BORDER, ON MDR 136 (GURGAON-BADLI-BHADDURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) (CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM MINTERSECTION OF MDR 136 AND MDR 133, TOWARDS JHAJIAR, ON BADLI JHAJIAR ROAD (MDR 123) WITHIN S KMS FROM INTERSECTION OF NH 09 AND MDR 136, TOWARDS BADLI, ON MDR-136 WITHIN S KMF FROM THE INTERSECTION OF NH 348 AND MDR 130 (MEAR CHHUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS FROM THE INTERSECTION OF SING NO MDR 122, BAHADURGARH - CHHARA BERI ROAD I KMS EITHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, ON MDR 122, BAHADURGARH - CHHARA BERI ROAD BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING VILLAGE SOLDHA AND VILLAGE - MAJRI), ON MDR 136 (BAHADURGARH - BADLI - GURGAON ROAD) WITHIN IS KMS FROM INTERSECTION OF GOHANA ROAD) WITHIN IS KMS FROM INTERSECTION OF GOHANA ROAD) WITHIN IS KMS FROM INTERSECTION OF GOHANA ROAD WITHIN S KMS FROM SHADA ON ROW BY PASS ROAD CONNECTING WITH SOM SHADA ROAD WI	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JOHN JAJJAR JOHN JAJJAR SONIPAT SONIPAT SONIPAT SONIPAT	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 0 5 5 5 5 5 0 0 5 5 5 5 0 0 0 0 0	4 4 4 3 4 4 2 2 3 3 4 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 554 555 556 557 558 559 560	SULKHA YILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETRI ROAD VILLAGE - KANWARIAWAN J. TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR HER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHARWAS TO JHARLI ROAD, MOR 130 10 KM FROM GURGAON - IHAJIAR BORDER, ON MOR 130 10 KM FROM GURGAON - IHAJIAR BORDER, ON MOR 136 (GURGAON-BADLI-BAHADURGARRH ROAD) TOWARDS BADLI, RNS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MOR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) (CROSSING ON MOR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM NHOR (DELHI ROHTAK ROAD) (MOR 123) WITHIN S KMS FROM INTERSECTION OF MOR 136 AND MOR 123, TOWARDS JHAJIAR, ON BADLI JHAJIAR ROAD (MOR 123) WITHIN S KMS FROM THE INTERSECTION OF NH 334B AND MOR 130 (NEAR CHHUCHHAKWAS POLICE STATION)) ON CHHUCHHAKWAS - JHAJIAR ROAD VIA GWALISON 1 KMS EITHER SIDE OF VILLAGE - CHHARA, NRCLUDING VILLAGE CHHARA, OM MOR 122, BAHADURGARH - CHHARA - BERI ROAD. BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING WILLAGE SOLDHA AND VILLAGE - MAJ	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR SONIPAT SONIPAT SONIPAT	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 35 35 35 35 35 35 0 35 35 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 10 0 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 3 2 4 4 3 4 4 2 4 2 3 4 4 2 2
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 556 557 558 559 560 561 562 563	SULKHA YILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD RETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD 2 KM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MDR 130 10 KM FROM GURGAON - JHAJUAR BORDER, ON MDR 136 (GURGAON-BADLI-BAHADURGARH ROAD) TOWARDS BADLI, RMS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MDR 136 AND MDR 123, TOWARDS JHAJUAR, ON BADLI JHAJUAR ROAD (MDR 123) WITHIN S KMS FROM INTERSECTION OF NH 09 AND MDR 123, TOWARDS JHAJUAR, ON BADLI JHAJUAR ROAD (MDR 123) WITHIN S KMS FROM THE INTERSECTION OF NH 348 AND MDR 130 (NEAR CHHUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS HAJUA (MDR 124) MITHIN S KMS FROM DEL 124, SHADHI AND AND LILLAGE - CHHARA, ON MDR 122, BAHADURGARH - CHHARA- BERI ROAD. 1 KMS EITHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE CHHARA, OM MDR 122, BAHADURGARH - CHHARA- BERI ROAD. WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- BERI ROAD. WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- BERI ROAD. WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- BERI ROAD. WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- ROAD WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- ROAD WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- ROAD WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING VILLAGE - CHHARA- ROAD WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- ROAD WITHIN 10 KMS FROM NDR 123, BAHADURGARH - CHHARA- BETWEEN VILLAGE - SOLDHA AND VILLAGE - MAJRI (INCLUDING VILLAGE - CHHARA- ROAD WITHIN 10 KMS FROM NOR 123, BAHADURGARH - CHHARA- WITHIN 10 KMS FROM NOR 123, BAHADURGARH - CHHARA- WITHIN 10 KMS FROM NOR 124, BAHADURGARH - CHHARA- WITHIN 10 KMS FROM	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JOHAJJAR JHAJJAR JHAJJA	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 4 4 4 4 4 4 4 4 4 4 4 2 4 4 4 4 4 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 556 557 558 559 560 561 562 563	SULKHA YILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD RETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETIR ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD SUM EITHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, ON CHHUCHHAKWAS TO JHARLI ROAD, MOR 130 10 KM FROM GURGAON - JHAJIAR BORDER, ON MOR 136 (GURGAON-BADLI-BAHADURGARH ROAD) TOWAROS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING ON MDR 122, BAHADURGARH CHHARA BERI ROAD WITHIN S KMS FROM INTERSECTION OF MDR 136 AND MDR 123, TOWARDS JHAJIAR, ON BADLI JHAJIAR ROAD (MOR 123) WITHIN S KMS FROM INTERSECTION OF NH 09 AND MDR 123, TOWARDS JHAJIAR, ON BADLI JHAJIAR ROAD (MOR 123) WITHIN 15 KMS FROM THE INTERSECTION OF NH 334B AND MOR 130 (NEAR CH-HUCHHAKWAS POLICE STATION) ON CHHUCHHAKWAS HAJIAR ROAD WILLAGE - MARINI (INCLUDING VILLAGE - SOLDHA AND VILLAGE - MARINI (INCLUDING	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR SONIPAT SONIPAT SONIPAT SONIPAT SONIPAT	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 36 0 37 35 35 35 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 3 3 2 4 4 3 3 4 2 4 4 4 2 3 4 4 4 4
539 540 541 542 543 544 545 546 547 548 549 550 551 552 553 554 555 556 557 558 559 560 561 562 563 564 565 566	SULKHA YILLAGE: VILLAGE - GABHI, ON REWARI - KOTKASIM ROAD BETWEEN NIZAMPUR CHOWK TO RAJASTHAN BORDER ON NIZAMPUR - KHETRI ROAD VILLAGE - KANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANWARIAWAS, TEHSIL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANWARIAWAS, THISL NARNAUL, ON RAMBAS NARNAUL ROAD VILLAGE - NANGAL DARGU, ON NANGAL CHAUDHARY - NIZAMPUR ROAD ZEM ETTHER SIDE OF VILLAGE - NOGAON, INCLUDING VILLAGE NOGAON, NO CHHUCHHARWAS TO JHARLI ROAD, MDR 130 ID KM FROM GURGAON - JHAJJAR BORDER, ON MDR 136 GURGAON-BADLI-BAHADURAGARH ROAD) TOWARDS BADLI, RIS. WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) CROSSING WITHIN S KMS FROM NHO9 (DELHI ROHTAK ROAD) (MDR 123) WITHIN S KMS FROM INTERSECTION OF MDR 136 AND MDR 123, TOWARDS BADLI, DAMBAR 136 WITHIN JS KMS FROM INTERSECTION OF NH 136 AND MDR 123, TOWARDS BADLI, DAMBAR 136 WITHIN JS KMS FROM INTERSECTION OF NH 334 AND MDR 136, TOWARDS BADLI, DAMBAR 136 WITHIN JS KMS FROM INTERSECTION OF NH 334 AND MDR 130 (NEAR CHUCHHARWAS POLICE STATION) ON CHHUCHHARWAS - JHAJJAR ROAD (MDR 130) WITHIN JS KMS FROM THE INTERSECTION OF NH 334B AND MDR 130 (NEAR CHUCHHARWAS POLICE STATION) ON CHHUCHHARWAS - JHAJJAR ROAD VIA GWAJISON JKMS ETTHER SIDE OF VILLAGE - CHHARA, INCLUDING VILLAGE - CHHARA, ON MDR 122, BAHADURGARH - CHHARA - BERI ROAD MYTHIN JS KMS FROM MINGER GANDING DHA NHO VILLAGE - MAJRI (INCLUDING VILLAGE SOLDHA AND VILLAGE - MAJRI (INCLUDING VILLAGE - LADHOT, ON LADHOT ROAD VILLAGE - SOLDHA RO	REWARI MAHENDRAGARH MAHENDRAGARH MAHENDRAGARH JHAJJAR JOHAJJAR JHAJJAR JHAJJA	Rural	70 70 70 70 70 70 70 70 70 70 70 70 70 7	OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DC	35 35 35 35 35 35 35 35 35 35 35 35 35 3	35 35 35 35 35 35 35 35 35 35 35 35 35 3	1225 1225 1225 1225 1225 1225 1225 1225	16 16 16 16 16 16 16 16 16 16 16 16 16 1	35 35 6 0 35 35 35 35 35 35 35 35 35 35 35 35 35	Draw of Lots	5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5 5	4 4 3 2 4 4 4 3 3 4 4 4 4 4 4 4 4 4 3 3 4

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category 6	Type of Site *	M.)/	Minimum imension (ii Area of the in Sq. M.). ⁴	site	be an	nce to ranged the licant	Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit
		,	Regular / Rural	MS+HSD in Kls	SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	A	
568	VILLAGE LAKHNORA ON SHAHZADPUR AMBLI ROAD,TEHSIL - NARAINGARH, DISTRICT-AMBALA	AMBALA	Rural	70	ОВС	DC	35	35	1225	16	35	Draw of lots	5	3
569	VILLAGE UGGAL MAJRI , UGGAL MAJRI - NARAINGARH ROAD, TEHSIL NARAINGARH	AMBALA	Rural	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
570	VILLAGE BHOJ MATAUR, ON PANCHKULA MORNI ROAD ,MDR 118	PANCHKULA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
571	VILLAGE DHURAKRA ON AMBALA HISSAR ROAD, TEHSIL AMBALA CITY	AMBALA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
572	VILLAGE BURIA, ON BURIA - JAGADHRI ROAD, TEHSIL JAGADHRI VILLAGE RANJITPUR, ON RANJITPUR-ADIBADRI ROAD, TEHSIL		Rural	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
573	BILASPUR VILLAGE AJRANA KHURD, ON JHANSA - THANESAR ROAD,	YAMUNANAGAR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
574	TEHSIL THANESAR VILLAGE RAJHERI, ON RADAUR- GUMTHALA ROAD, TEHSIL	KURUKSHETRA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
575	RADAUR VILLAGE DUSANI, ON OLD YAMUNANAGAR - SAHARANPUR	YAMUNANAGAR	Rural	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
576	ROAD, TEHSIL JAGADHRI VILLAGE KISHANPURA, ON KHIZRABAD-BILASPUR ROAD, TEHSIL	YAMUNANAGAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
577 578	CHHACHHRAULI VILLAGE ALAHAR, ON YAMUNANAGAR- KARNAL ROAD, TEHSIL	YAMUNANAGAR YAMUNANAGAR	Rural	70	OPEN SC	DC CFS	35 35	35	1225	16	35 0	Draw of lots Draw of lots	5	2
578	RADAUR VILLAGE RAMSARAN MAJRA, ON BABAIN - RAMSARAN MAJRA	KURUKSHETRA	Rural	70	OBC	DC	35	35	1225	16	35	Draw of lots Draw of lots	5	3
580	ROAD, TEHSIL LADWA VILLAGE MANGOLI JATTAN, ON BABAIN-BARARA ROAD, TEHSIL	KURUKSHETRA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
581	THANESAR VILLAGE NAGLI, ON NAGLI - PRAHLADPUR ROAD, TEHSIL	YAMUNANAGAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
582	RADAUR VILLAGE GUNDIANA, LADWA - MUSTAFABAD ROAD, TEHSIL	YAMUNANAGAR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of lots	0	2
583	SARASWATI NAGAR VILLAGE GHARADSI, ON MDR 119 KURUKSHETRA - DHAND	KURUKSHETRA	Rural	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
584	ROAD, TEHSIL THANESAR VILLAGE JATHLANA, ON JATHLANA -GUMTHALA ROAD, TEHSIL	YAMUNANAGAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
585	RADAUR VILLAGE SANDHIR,ON NILOKHERI-SANDHIR ROAD,TEHSIL	KARNAL	Rural	70	OPEN CC 1	DC	35	35	1225	16	35	Draw of lots	5	4
586	NILOKHERI VILLAGE GOGDIPUR,ON RHS TOWARDS MUNAK, MUNAK- KARNAL ROAD,TEHSIL KARNAL	KARNAL	Rural	70	OBC	СС	35	35	1225	16	6	Bidding	10	3
587	VILLAGE MATAK MAJRI,ON INDRI-GARHI BIRBAL ROAD VIA KHERA,TEHSIL INDRI	KARNAL	Rural	70	sc	CFS	35	35	1225	0	0	Draw of lots	0	2
588	VILLAGE DHANORA JAGIR,ON LADWA-KALRI JAGIR ROAD VIA KHURDBAN,TEHSIL INDRI	KARNAL	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
589	VILLAGE BARA GAON,ON KARNAL-YAMUNANAGAR ROAD,TEHSIL KARNAL	KARNAL	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of lots	5	4
590	VILLAGE GONDAR, ON NISSING-GONDAR ROAD, TEHSIL NISSING	KARNAL	Rural	70	OBC	DC	35	35	1225	16	35	Draw of lots	5	3
591	WITHIN 7KMS FROM SHAHEED BHAGAT SINGH PUBLIC SCHOOL MAIN GATE TOWARDS ASSANDH-ON ASSANDH-	KARNAL	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
592	PANIPAT ROAD WITHIN 2 KM OF ANIMAL HOSPITAL MAIN GATE, SIWAN ON	KAITHAL	D	70	OPEN	DC	35	35	1225	46	25	Draw of lots	5	4
	SIWAN-MALAKPUR ROAD WITHIN 2 KM FROM SAGBAN POLICE CHOWKI TOWRADS	KAIITIAL	Rural	70	4. 2	ьс	33	33	1225	16	35	Draw or lots	3	*
593	TOSHAM ON MDR-108, ON RHS WHILE MOVING FROM BHIWANI TOWARDS TOSHAM	BHIWANI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
594	VILLAGE - DAMKORA, ON DAMKORA - CHAPARA ROAD WITHIN 2 KM FROM RAJKIYA KANYA VARISHTHA MADHYAMIK	BHIWANI	Rural	70	OBC	CC	35	35	1225	16	6	Bidding	10	3
595	VIDYALAYA, JHOJHU KALAN TOWARDS ADAMPUR DADHI ON JHOJHU KALAN - ADAMPUR DADHI ROAD	CHARKHI DADRI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
596	WITHIN 3 KM FROM BADHRA CHOWK TOWARDS JUI ON	CHARKHI DADRI	Rural	70	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
597	BADHRA JUI ROAD VILLAGE - RAHIMPUR ON LOHARU - SURAJGARH ROAD WITHIN 1 KM FROM RAJKIYA PRATHMIK VIDYALAYA,	BHIWANI	Rural	70	OPEN CC 2	DC	35	35	1225	16	35	Draw of Lots	5	4
598	PILLUKHERA TOWARDS PILUKHERA RAILWAY STATION WITHIN 1 KM FROM MANGLAM RESORT, JHOJHU KALAN	JIND	Rural	70	OBC CC 1	DC	35	35	1225	16	35	Draw of Lots	5	3
599	TOWARDS KALIYANA ON RHS WHILE MOVING FROM JHOJHU KALAN TO KALIYANA	CHARKHI DADRI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
600	WILLAGE - KUMTHALA ON MUSLI-KESHUPURA ROAD WITHIN 1 KM OF RAIKIYA KANYA PRATHMIK PATHSHALA.	SIRSA	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
601	CHHAPAR ON KITLANA - BARSANA ROAD	CHARKHI DADRI	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
602	VILLAGE - SAHAJMANPUR ON BAHAL TO RAMPURA BERI ROAD WITHIN 1 KM FROM RAJKIYA VARISHTHA MADHYAMIK	BHIWANI	Rural	70	OPEN	cc	35	35	1225	16	6	Bidding	10	4
603	VIDYALAYA, RAMBAS TOWARDS KADMA ON LHS WHILE MOVING FROM JHOJHU KHURD TO KADMA	CHARKHI DADRI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
604	VILLAGE - BANBHORI ON BANBHORI BARWALA ROAD ON RHS WHILE MOVING FROM BANBHORI TOWARDS BARWALA	HISAR	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
605	VILLAGE - GORAKHPUR ON AGROHA - JANDLI KHURD ROAD	FATEHABAD	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
606	VILLAGE - NEOLI KALAN ON BAGLA ROAD	HISAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
607	BETWEEN VILLAGE - BHIWANI ROHILLAN AND RAWALWAS KHURD (INCLUDING BOTH VILLAGES) ON HISAR BALSAMAND ROAD	HISAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
608	WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS HISAR ON RHS WHILE MOVING FROM BHADRA TOWARDS BALSAMAND ON BHADRA BALSAMAND HISAR ROAD	HISAR	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
609	WITHIN 2 KM FROM SHAHEED MATHAN SINGH CHOWK TOWARDS TOSHAM ON BHIWANI TO TOSHAM ROAD	BHIWANI	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
610	VILLAGE - BUDHA KHERA ON UKLANA DAULATPUR ROAD ON LHS WHILE MOVING FROM UKLANA TOWARDS DAULATPUR	HISAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
611	WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS BANI ON LHS WHILE MOVING FROM SUREWALA TO BANI	SIRSA	Rural	70	OPEN CC 1	сс	35	35	1225	16	6	Bidding	10	4
612	BETWEEN KM STRONE 29 AND 33 ON MDR 104 (SIRSA DISTRICT)	SIRSA	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
613	WITHIN 1 KM FROM WATER WORKS NATHORE TOWARDS MAMMER KHERA ON NATHORE -MAMMER KHERA ROAD	SIRSA	Rural	70	sc	CFS	35	35	1225	0	0	Draw of Lots	0	2
614	VILLAGE - BUDAK ON BHIRANI BUDAK MARG WITHIN 4 KM FROM SHANTI NIKETAN VIDYAPEETH, HISAR	HISAR	Rural	70	OPEN	CC	35	35	1225	16	6	Bidding	10	4
615	TOWARDS HISAR ON RHS WHILE MOVING FROM TOSHAM TO HISAR	HISAR	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
616 617	VILLAGE - JAMAL, TEHSIL - NATHUSARI CHOPTA WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS	SIRSA	Rural Rural	70 70	OBC OPEN	DC DC	35 35	35 35	1225 1225	16 16	35 35	Draw of Lots Draw of Lots	5	3 4
618	NEEMLA ON KEHARWALA-NEEMLA ROAD VILLAGE - SULTANPUR, ON SULTANPUR - KUNWARI ROAD	HISAR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
	, ,	_	1									2. 200		

S. No	Name Of Location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site *	Minimum Dimension (in M.)/Area of the site (in Sq. M.). *		Finance to be arranged by the applicant		Mode of Selection	Fixed Fee / Minimum Bid amount	Security Deposit	
1	2	3	Regular / Rural	MS+HSD in Kls	6 SC SC CC-1 SC PH ST ST CC-1 ST PH OBC OBC CC-1 OBC PH OPEN OPEN CC-2 OPEN PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding	11	12
619	WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS CHAUTALA ON CHAUTALA-SABUWANA ROAD	SIRSA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
620	VILLAGE - RAMGARH ON BYPASS CONNECTING BHIWANI ROAD AND HANSI ROAD	JIND	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
621	WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS KALUANA ON LHS WHILE MOVING FROM MANAK TIBBI TOWARDS KALUANA	SIRSA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
622	VILLAGE - BIDHWAN ON ISHERWAL - JHUMPA ROAD	BHIWANI	Rural	70	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
623	VILLAGE - MOTHSARA ON KOHLI CHIKANWAS ROAD ON RHS WHILE MOVING FROM KOHLI TO CHIKANWAS	HISAR	Rural	70	OBC PH	DC	35	35	1225	16	35	Draw of Lots	5	3
	WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS DHOLPALIA ON LHS WHILE MOVING FROM MASITAWALI TO DHOLPALIA	SIRSA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
625	VILLAGE - JHAMOLA, TEHSIL - JULANA ON JULANA - HANSI ROAD	JIND	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
626	VILLAGE - CHHATAR ON DAHOLA-UCHANA ROAD	JIND	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
627	VILLAGE - MIRZAPUR ON HISAR - MIRZAPUR ROAD	HISAR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
628	VILLAGE - KIRDHAN ON KHARAKHERI-BHATTU MANDI ROAD	FATEHABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
	WITHIN 2 KM FROM THE RATIA PRATHMIK KRISHI SAHKARI SAMITI (BIKRI KENDRA LAMBA) TOWARDS CHIMU ON LAMBA- CHIMU ROAD	FATEHABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
630	BETWEEN SANSKAR INTERNATIONAL SCHOOL AND DHBVN SUBSTATION DIGOH ON BHUNA-RATIA ROAD	FATEHABAD	Rural	70	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
631	VILLAGE - BOBUA ON BOBUA - HASSANGARH ROAD	HISAR	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
632	VILLAGE - BIGHAR ON FATEHABAD - DHAND ROAD	FATEHABAD	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
633	VILLAGE - KARSOLA ON LAJWANA KHURD-JULANA ROAD	JIND	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
634	WITHIN 1.5 KM FROM GURUDWARA SAHIB KHUIAN NEPALPUR TOWARDS BHAGSAR ON BHAGSAR -KHUIAN NEPALPUR ROAD	SIRSA	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
635	WITHIN 2 KM FROM HARYANA-RAJASTHAN BORDER TOWARDS ELLENABAD ON ELLENABAD-NOHAR ROAD	SIRSA	Rural	70	OBC	cc	35	35	1225	16	6	Bidding	10	3

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
Regular ROs	CC	OBC	5000	Rural	CC	OBC	4000
	CC	Open	10000	ROs	CC	Open	8000
	DC	OBC	5000	11.03	DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.
The tenure of the dealerships half be for an initial specified off 10 years and renewable every 10 years thereafter.
This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.
In case of any discrepancy in advertisement published in English Newspapers via a vis vernacular dailine, the direction/information indicated in English vernacular dailine.
For any information with regard to the advertisement, candidates may contact the following address:-

Office Address	District	Contact No.
HINDUSTAN PETROLEUM	GURUGRAM	9891942999
CORPORATION LIMITED,	FARIDABAD AND	8004939891
GURGAON RETAIL REGIONAL	PALWAL	
OFFICE, 104, 1ST FLOOR,	ROHTAK AND JHAJJAR	7295840268
SILVERTON TOWER, GOLF	REWARI AND	7720079235
COURSE EXTENSION ROAD.	MAHENDRAGARH	
SECTOR 50, GURUGRAM -	NUH/MEWAT	8191913399
122018, PH - 0124- 4206008,		
8808786666		
HINDUSTAN PETROLEUM	HISAR	7206303442
CORPORATION LIMITED,	SIRSA	8279879973
HISAR RETAIL REGIONAL	JIND AND FATEHABAD	7357046373
OFFICE, 2ND FLOOR, S. J. TOWER,	BHIWANI AND	8130908171
SECTOR - 13, TOSHAM ROAD,	CHARKHI DADRI	
HISAR - 125005		
PH - 01662-282411, 282402,		
9915077391		
HINDUSTAN PETROLEUM	PANIPAT AND SONIPAT	7388317012
CORPORATION LIMITED,	AMBALA AND	9654750403
PANIPAT RETAIL REGIONAL OFFICE	PANCHKULA	
E-22, INDUSTRIAL AREA, OLD	KARNAL	8445726587
COURT ROAD, PANIPAT – 132103,	KAITHAL AND	8826267750
PH - 0180-2681326,	KURUKSHETRA	
0180-2681327, 9416893419	YAMUNA NAGAR AND	9017047570
	KURUKSHETRA	

[#] Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website APPLICATION. HAPPLICATION HAPPLICATION APPLICATION APPLICATION (APPLICATION ON CONTIONS or SETOR SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 27/09/2023.